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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529127
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2105294552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Phrase T-L model of teaching implies that

1. Teaching and learning are independent acts

2. Teaching and learning are integrally related acts
3. Teaching aims at learning

4. Teaching causes learning

Options :

21052918001. 1

21052918002. 2

21052918003. 3

21052918004. 4

Question Number : 1 Question Id : 2105294552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918001. 1

21052918002. 2

21052918003. 3

21052918004. 4

Question Number : 2 Question Id : 2105294553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the following list of learner characteristics, identify those which are associated with ‘field
independent’ learners

A. Focuses on facts and principles

B. Perceives global aspects of concepts and materials

C. Prefers and likes to compete

D. Can organize information by himself/herself

E. Likes to cooperate

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A, Cand D only
4. C, D and E only



Options :

21052918005. 1
21052918006. 2
21052918007. 3
21052918008. 4

Question Number : 2 Question Id : 2105294553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hftreal o1 Fefafiad et & 3 37 HEivasit ¢ ugaE Sifee o &7 Whw sifrmEad
Joafia g .

A. TH! 3R fogidl )R H Bied ST e
B. I@YRUNSN 3R g & e Teqel & gaeal &

C. Afcreqef @3- 1 SHAHH odl 3R 98e $3dl &
D. T4 §RI g1 Haiyd 2 Yohdl & / GHdl &

E. 9841 &3] U8 &Hidl &
i feu 7 fashedl § § UEl S 9 -

1.HEAA, B IR C
2. ®aa B, C3RD
3. ®BaAAA C3HRD
4. HFAC, D ARE
Options :
21052918005 1
21052918006. 2
21052918007. 3
21052918008. 4



Question Number : 3 Question Id : 2105294554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be style-related competencies of an effective teacher?
A. Organized demeanour which means being orderly, clear and in control

B. Literacy which implies general knowledge as well as good at reading and writing

C. Self-efficacy which refers to a person's self-perceived capacity to perform a task

D. Flexibility which means being sensitive and lenient

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. D and E only
Options :
21052918009. 1
21052918010. 2
21052918011. 3
21052918012. 4

Question Number : 3 Question Id : 2105294554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918009. 1
21052918010. 2
21052918011. 3
21052918012. 4

Question Number : 4 Question Id : 2105294555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
Scale of measurement Properties
A. Nominal I. Classification and order
B. Ordinal 1. Classification, order and equal units
lIl. Classification, order, equal units and absclute
C. Interval
zero
D. Ratio V. Classification only

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-LC-IV,D-IlI
JA-NLB-ILC-IV,D-I
4 A-IV,B-LC-1I,D-1I
Options :

21052918013. 1
21052918014. 2
21052918015. 3
21052918016. 4

Question Number : 4 Question Id : 2105294555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1L,B-ILC-I,LD-1V
ZA-1,B-1L,C-1V,D-1l
JA-ILB-ILC-IV,D-I
4 A-IV,B-1LC-1I,D-1I
Options :

21052918013. 1
21052918014. 2
21052918015. 3
21052918016. 4

Question Number : 5 Question Id : 2105294556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Use of ICT is justified during teaching with a view to optimize learning outcomes

Reason R: Learning outcomes are contingent on use of ICT during teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052918017. 1

21052918018. 2

21052918019. 3

21052918020. 4

Question Number : 5 Question Id : 2105294556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918017. 1

21052918018. 2

21052918019. 3

21052918020. 4

Question Number : 6 Question Id : 2105294557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher proposes to find out the effect of praise and encouragement during a teaching-
learning session based on Skinner's theory of reinforcement. What type of research will it
belong to?

1. Fundamental research
2. Evaluative research

3. Action research

4. Applied research
Options :

21052918021. 1



21052918022. 2
21052918023. 3
21052918024. 4

Question Number : 6 Question Id : 2105294557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918021. 1
21052918022. 2
21052918023. 3
21052918024. 4

Question Number : 7 Question Id : 2105294558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: All research adds to the corpus of knowledge by advancing a theory

Statement lI: The focus of action research is basically on the amelioration of prevalent
practices

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052918025. 1

21052918026. 2

21052918027. 3

21052918028. 4

Question Number : 7 Question Id : 2105294558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918025. 1
21052918026. 2
21052918027. 3
21052918028. 4

Question Number : 8 Question Id : 2105294559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List II
Key research terms Description
A. Research problems I. Devices using which data are gathered

B. Research hypothesis
P II. & subset drawn from a defined set or universe

I1l. & tentative solution or answer to a research
C. Sample of study .
question

V. The research question which has to be
D. Research tools

answered

Choose the correct answer from the options given below:

TA-IV,B-IILC-1,D-|
ZA-ILB-ILC-1,D-IV
FA-,B-ILC-IILD-V
4 A-IILB-IV,C-1,D-1
Options :

21052918029. 1
21052918030. 2
21052918031. 3



21052918032. 4

Question Number : 8 Question Id : 2105294559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-NLC-1LD-I
ZA-ILB-ILC-1L,D-V
3A-L,B-ILC-lILD-V
4 A-IILB-IV,C-LD-I
Options :

21052918029. 1
21052918030. 2
21052918031. 3
21052918032. 4

Question Number : 9 Question Id : 2105294560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in a hypothetico-deductive research in the correct sequence
A. Identifying and defining a research problem

B. Defining the population and drawing a sub-set therefrom

C. Data collection using appropriate research tasks followed by data analyses
D. Hypothesis formulation and developing a design of research

E. Taking a decision on the substantive research hypothesis via testing of the Null hypothesis
(Ho)

Choose the correct answer from the options given below

1.ADBCE
2ABCDE
3.ACBDE
4B A CDE
Options :

21052918033. 1
21052918034. 2
21052918035. 3
21052918036. 4

Question Number : 9 Question Id : 2105294560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A DBCE
2.A B CDE
3ACBDE
4B A CDE
Options :

21052918033. 1
21052918034. 2
21052918035. 3
21052918036. 4

Question Number : 10 Question Id : 2105294561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling techniques in research imply randomization and equal
probability of drawing the units?

A. Quota sampling

B. Snowball sampling

C. Stratified sampling

D. Dimensional sampling

E. Cluster sampling

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand E only
4. D and E only
Options :
21052918037. 1
21052918038. 2
21052918039. 3
21052918040. 4

Question Number : 10 Question Id : 2105294561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918037. 1
21052918038. 2
21052918039. 3
21052918040, 4

Sub-Section Number : 2
Sub-Section Id : 210529128
Question Shuffling Allowed : Yes

Question Id : 2105294562 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension

Read the passage carefully and answer the questions that follow



In the narrowest sense, price is the amount of money charged for a product or a service. More
broadly, price is the sum of all the values that customers give up to gain the benefits of having
or using a product or service. Historically, price has been the major factor affecting buyer
choice. In recent decades, however, nonprice factors have gained increasing importance. Even
so, price remains one of the most important elements that determines a firm's market share
and profitability.

Price is the only element in the marketing mix that produces revenue; all other elements
present costs. Price is alsc one of the most flexible marketing mix elements. Unlike product
features and channel commitments, prices can be changed quickly. At the same time, pricing is
the number one problem facing many marketing executives, and many cempanies do not
handle pricing well. Some managers view pricing as a big headache, preferring instead to
focus on other marketing mix elements. However, smart managers treat pricing as a key
strategic tool for creating and capturing costumer value. Prices have a direct impact on a firm's
bottom line. A small percentage improvement in price can generate a large percentage
increase in profitability. More important, as part of a company's overall value proposition, price
plays a key role in creating customer value and building customer relationships. "Instead of
running away from pricing,” says an expert, "savvy marketers are embracing it".

The price the company charges will fall somewhere between one that is too low to produce a
profit and one that is too high to produce any demand. It summarizes the major
considerations in setting price. Customer perceptions of the product’s value set the ceiling for
prices. If customers perceive that the product’s price is greater that its value, they will not buy
the product. Likewise, product costs set the floor for prices. If the company prices the product
below its costs, the company's profits will suffer. In setting its price between those two
extremes, the company must consider several external and internal factors, including
competitors’ strategies and prices, the overall marketing strategy and mix, and nature of the
market and demand.

Sub questions



Question Number : 11 Question Id : 2105294563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Historically price was considered important because

1. Sellers were always benefitted

2. Money was charged for product or service
3. It provided options for buyers

4. It promoted non-price factors

Options :

21052918041. 1
21052918042. 2
21052918043. 3
21052918044. 4

Question Number : 12 Question Id : 2105294564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why is price different from other elements in the marketing mix?

1. It offsets cost

2. It generates revenue

3. It is rigid in character

4. |t ensures channel commitment
Options :
21052918045. 1

21052918046. 2
21052918047. 3
21052918048. 4

Question Number : 13 Question Id : 2105294565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the perception of smart managers regarding pricing?

1. It is a strategic tool for consumer value

2. It invites issues

3. It is better to focus on other elements in the marketing mix
4. It is of indirect value to the firm

Options :

21052918049. 1

21052918050. 2

21052918051. 3

21052918052. 4

Question Number : 14 Question Id : 2105294566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major determinant of pricing for product or service?

1. High demand

2. Low demand

3. Customer's value perception

4. Company's quest for high profitability
Options :

21052918053. 1

21052918054. 2

21052918055. 3

21052918056. 4

Question Number : 15 Question Id : 2105294567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the other factors influencing or setting the price for products or services?
A. Competitors' strategies

B. Over-all marketing mix

C. Type of market

D. Pricing from one extreme to the other

E. Predators pricing strategies

Choose the correct answer from the options given below:

1. A, D and E only
2. A, B and C only
3.C, D and E only
4. B, C and D only
Options :
21052918057. 1
21052918058. 2
21052918059. 3
21052918060. 4

Question Id : 2105294562 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 2105294563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918041. 1

21052918042. 2

21052918043. 3

21052918044. 4

Question Number : 12 Question Id : 2105294564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918045 1

21052918046. 2

21052918047. 3

21052918048. 4

Question Number : 13 Question Id : 2105294565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052918049. 1

21052918050. 2

21052918051. 3

21052918052. 4

Question Number : 14 Question Id : 2105294566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918053. 1

21052918054. 2

21052918055. 3

21052918056. 4

Question Number : 15 Question Id : 2105294567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl Sl Harell & DHG &I UHIdd a1 HYiRT B a1 3 RS HH-4 § ?
A. Ufcreaidal @ Yot

B. gAY fauur fasor

C. 9I9IR &1 §bR

D. Uth IRid e ¥ Gl Wil dd diad FHeRu

E. ISR Hoall I DA 0

Hel faded g -

1. ®Bdd A D IR E
2. Pad A, B3R C
3. PaqaC, D 3MRE
4. ®da B, C AR D
Options :
21052918057. 1
21052918058. 2
21052918059. 3
21052918060. 4

Sub-Section Number : 3
Sub-Section Id : 210529129
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105294568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication enhances the interaction of learners, it is

1. Physiological
2. Psychological
3. Artistic

4. Transient
Options :
21052918061. 1
21052918062. 2
21052918063. 3
21052918064. 4

Question Number : 16 Question Id : 2105294568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
& GEN, AfERTHEGAI B eyl ® §gldl & 99 98 eldl & ;

1. Hifd®
PREICHIEGH
3. FATHD
4, gfftrs

Options :

21052918061. 1
21052918062. 2
21052918063. 3
21052918064. 4

Question Number : 17 Question Id : 2105294569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Classroom communication is

A. Goal-oriented

B. Style-centric

C. Collaborative

D. Vertical

E. Non-rhetorical

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and E only
Options :
21052918065. 1
21052918066. 2
21052918067. 3
21052918068. 4

Question Number : 17 Question Id : 2105294569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



DT - DE GREU BT & :

A. TEI-39E
B. Aeil-thisd

C. GEUHD

D. HeiR

E. 7R - 3fcidd

Hel faded g -

1. Had A 3R B
2. @aAB AR D
3. @A A AR C
4. HaAD AR E
Options :
21052918065. 1
21052918066. 2
21052918067. 3
21052918068. 4

Question Number : 18 Question Id : 2105294570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Allowing an issue to fester will contribute to effective communication

Reason R: A good communicator will address an issue in the classroom before it becomes
precarious

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052918069. 1

21052918070. 2

21052918071. 3

21052918072. 4

Question Number : 18 Question Id : 2105294570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T el oy Ru T § : te ofiayH () AR GEU & (R) B

HiPHYH (A) : fH TR &I 964 ¢4 © UHTE! U H eradl Hed! 8|

d (R) : Ueh HRcl YUYl el H food! THe] & S 5l ofiH 3 Ugd S9! GH14UH ST |
SUgdd Syl & 3Tt H Fgifdd fdepeal § 4 w81 Sw g -

(A) 3R (R) THI T&1 & 3R (R), (A) P! ol ARG &l o
(A) 3R (R) &I GE1 € 3IR (R), (A) P! UgI SARAT 81 8|
(A) H81 8, b= (R) o7 B

(A) 7TTd & b (R) Hel B

Options :

21052918069. 1

21052918070. 2

21052918071. 3

21052918072. 4

1.
2.
3.
4.

Question Number : 19 Question Id : 2105294571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List |

List 1l

Communication barriers

Description

A, Semantic

. Lack of physical clarity in channel

B. Psychological

Il. Faulty message

C. Personal

Ill. Poor retention

D. Physical

V. Lack of time

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

21052918073. 1
21052918074. 2
21052918075. 3
21052918076. 4

Question Number : 19 Question Id : 2105294571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gait-1 § Gai-1l &7 FHaE &

] Ti-Il
TUOU & HARY  [[aR0
A. Teadd I GRUT () H Hifds syl &1 4G
B. FAIG9I® I1. Ffequl gem
C. Al 1. FHF BIfe BT AHGURT
D. Hifd® V. GHG & HYG
il fau U fasheal § O gel 3« &1 90 & -

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

21052918073. 1
21052918074. 2
21052918075. 3
21052918076. 4

Question Number : 20 Question Id : 2105294572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Signs and symbols have internal relations to produce meanings
Statement lI: This is possible because of a network of signs through such relations

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052918077. 1

21052918078. 2

21052918079. 3

21052918080. 4

Question Number : 20 Question Id : 2105294572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAE USRI R

HUA-| ; Yot AR Tt &1 1 Iaad B H 31 Tdy gl 2
HYH-1 : T8 3 Udul & H1e9H Y Ydvell & A2dd & BRI HHd Bidl ¢
IRa BYH & H1eilie | Fgifhd fdeedl H 4§81 3w 9

1. @Y | 3R 1| ST T8 B

2. YA | AR || SH 9 g

3. BYA-1 9 g, food HY-11 To7d & |
4, HYF-| AT g, foog BYA-11 Gl B




Options :

21052918077. 1
21052918078. 2
21052918079. 3
21052918080. 4

Question Number : 21 Question Id : 2105294573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man covers a distance of 22 km in 4 hours by initially walking and then jogging at speed of 4
km/hour and 10 km/hour, respectively. The distance covered by him during walking is

1.10 km
2. 12 km
3.15 km
4. 18 km
Options :
21052918081. 1
21052918082. 2
21052918083. 3
21052918084. 4

Question Number : 21 Question Id : 2105294573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U oiga 22 fohHl & gl Bl 4 °¢ H SRY H T AR dard 4 &I 4 HH: 4 foHl ga
HR 10 ey de1 & 710 T 70 Bl & | 39D gR1 dad ad B 115 g1l [dd-l 6 ?

1. 10 T,

2. 12 T,

3. 15 TobHl

4. 18 Tl
Options :
21052918081. 1
21052918082 2
21052918083. 3
21052918084 4

Question Number : 22 Question Id : 2105294574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A rational number has its denominator greater than its numerator by 6. If the numerator is

increased by 4 and the denominator is decreased by 8, the number becomes g . What is the

original rational number?

11

17

5

11

7

13

13

19

Options :
21052918085. 1
21052918086. 2
21052918087. 3

21052918088. 4

1.

2.

3.

4,



Question Number : 22 Question Id : 2105294574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U URHY T3] D1 5 34D W H 6 3fd 51 3G SN H 4 DI Jhg DI ol g AR AT 8
udimd|d|%ﬂ?%@|gﬁaﬁﬂ%|%ﬂﬂﬁﬁﬁww%?

it

17
5
11
7
13
13
19

[l

Options :

21052918085. 1
21052918086. 2
21052918087. 3
21052918088. 4

Question Number : 23 Question Id : 2105294575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following number series
0, 6, 24, 60, 120, X
What is the value of term X7

1. 180
2 210
3. 240
4,156



Options :

21052918089. 1
21052918090. 2
21052918091. 3
21052918092. 4

Question Number : 23 Question Id : 2105294575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fgifhd &= 4aar | fdar Sife

0, 6, 24, 60, 120, X
X B A T & ?

1. 180
2. 210

3. 240

4. 156
Options :
21052918089. 1
21052918090. 2
21052918091. 3
21052918092. 4

Question Number : 24 Question Id : 2105294576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Two water pipes can fill a tank in 10 minutes and 15 minutes, respectively, if each of them is
used separately. If both the pipes are used to fill the tank simultaneously, how long will it take
to fill the tank?

1. 6 minutes
2. 8 minutes
3. 7.5 minutes
4. 9 minutes
Options :
21052918093. 1
21052918094. 2
21052918095. 3
21052918096. 4

Question Number : 24 Question Id : 2105294576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l ofc UIsY TG 3{T-3{TH 9ae ol df UH <] &l ®HR: 10 e 3R 15 fqe § R 9@d 5
Ofg 3iFf UIsyl &l o] &I Y34 & 770 Us -T7Y Eid o0 9e o <1 & W34 o foa7 99g o

1.6 e

2.8 e
3.7.5 e

4 9fie
Options :
21052918093. 1
21052918094. 2
21052918095. 3
21052918096. 4



Question Number : 25 Question Id : 2105294577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following letter series?
aceg, cegi, egik, gikm, ___

1. jlor

2. hjlo

3. ikmo

4. ikmg
Options :
21052918097. 1
21052918098. 2
21052918099. 3
21052918100. 4

Question Number : 25 Question Id : 2105294577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fgifdd 2eg y@el & ST WUsg &1 BRI ?

aceg, cegi, egik, gikm, __

1. jlor
. hjlo
. ikmo

Y A

. ikmg
Options :
21052918097. 1
21052918098. 2
21052918099. 3
21052918100. 4



Question Number : 26 Question Id : 2105294578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Substance is self-caused, self-conceived and self-existent

Reason R: Substance is not caused by other causal sources but is conceived by something else
and is also existent on that

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052918101. 1

21052918102. 2

21052918103.3

21052918104. 4

Question Number : 26 Question Id : 2105294578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;
HIHGYA (A) : GO0 W-HIa, W-Yd 311 T i aran sidl o

a® (R) : God 30 BRE Aldl G DI el oidl & Sicd [Pl 3= gRT UTRd il & 3R 394 it
JFRaa H g gl

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) U8l & U (R) 7Teid &

4. (A) 7T & TR (R) el &

Options :

21052918101. 1

21052918102. 2

21052918103. 3

21052918104. 4

Question Number : 27 Question Id : 2105294579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: All perceptions seem entirely loose and separate. They are conjecined but not
necessarily connected

Reason R: Since the perception of hardness is not necessarily connected with its colour, it can
be said that perceptions are loosely connected

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052918105. 1

21052918106. 2

21052918107. 3

21052918108. 4

Question Number : 27 Question Id : 2105294579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;

HHHYA (A) H TEEU guf U 9 9ad 3R U Udld gid &) d §9dd gld & Ui Si-aidd:
Hafed T2l 5id ¢

dd (R) : dich HARAT D1 UGB 39 A1 U HHqdd: Wefdd -Tg] 8 S9icid 98 ®al of 9odl o
fob Ugalioey gad U 4 Helia g

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052918105. 1

21052918106. 2

21052918107. 3

21052918108. 4

Question Number : 28 Question Id : 2105294580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: If there is a contestation between Sruti and Smriti, Sruti prevails over Smriti

Reason R: Sruti represents the philosophical aspect of the Vedas and Upanishads, while
Smiriti is an application of the philosophical ideas.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052918109. 1

21052918110. 2

21052918111. 3

21052918112. 4

Question Number : 28 Question Id : 2105294580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;
By (a) - OfG ofa ofR Wi & o9 ufowai 8 8, a1 i, i 9 oifie murdt aidh &1

@ (R) : ‘Y Jaf 3R IuFYal & qRiHe Tsqs & G2l &, weie Wi ariHe GEri @
U IR B

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052918109. 1

21052918110. 2

21052918111. 3

21052918112. 4

Question Number : 29 Question Id : 2105294581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Quantity and quality of a categorical proposition decide

1. Validity

2. Invalidity

3. Mood

4. Figure
Options :
21052918113. 1
21052918114. 2
21052918115. 3
21052918116. 4



Question Number : 29 Question Id : 2105294581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl geap b areg &t A SR g RgfaRed &1 Ao sl g

1. QYT

2. AT

3. HIR

4. Ppid
Options :
21052918113. 1
21052918114. 2
21052918115.3
21052918116. 4

Question Number : 30 Question Id : 2105294582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following decides the figure of a categorical proposition?

1. Major term
2. Minor term
3. Middle term
4. Copula
Options :
21052918117. 1
21052918118.2
21052918119. 3
21052918120. 4

Question Number : 30 Question Id : 2105294582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Ffeiad ¥ 4 &HF - 91 [od Yy 9o a1 &1 HPd S H0g Bl 6 ?

1. UHE Ug

2 g UE

3 HEH UG

4 W(Co;}ulaj
Options :
21052918117. 1
21052918118. 2
21052918119. 3
21052918120. 4

Sub-Section Number : 4
Sub-Section Id : 210529130
Question Shuffling Allowed : Yes

Question Id : 2105294583 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No
Question Numbers : (31 to 35)
Question Label : Comprehension

: Yes Group Comprehension Questions



Based on the data in the table, answer the questions that follow

Consider the following table which contains year-wise data of installed Renewable Energy
capacity for four countries (X, Y, Z, T) over a period of 5 years from 2015 to 2019.

Year\Country X Y Z 1L

2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105294584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Between 2016 to 2017, which country registered maximum growth (%) in installed capacity of
Renewable Energy?

1. X

2L

3.¥

4T

Options :
21052918121. 1
21052918122.2
21052918123.3
21052918124. 4



Question Number : 32 Question Id : 2105294585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which country registered maximum growth (%) by 2019 with reference to year 20157

2T

3. X

4.

Options :
21052918125. 1
21052918126. 2
21052918127.3
21052918128. 4

Question Number : 33 Question Id : 2105294586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For the country 'Y', what is the average annual growth (%) of Renewable Energy capacity?

1. ~10.85 %
2. ~12.77 %
3.~13.25%
4 ~11.65%
Options :

21052918129.
21052918130.
21052918131.
21052918132.

AW O~

Question Number : 34 Question Id : 2105294587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
In any given year, compared to the previous year which country(s) registered maximum growth
(%6)?

1T

2. Zandy

3 ¥

4 Xand Z
Options :
21052918133. 1
21052918134.2
21052918135. 3
21052918136. 4

Question Number : 35 Question Id : 2105294588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Taking all four countries together, what is the over-all increase (%) in installed capacity of
Reneable Energy in the year 2019, with reference to 20157

1.52.32 %
91,11 %
. 117.32 %

. 121.81 %
Options :
21052918137. 1
21052918138. 2
21052918139. 3

21052918140. 4

[ T I 9

Question Id : 2105294583 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (31 to 35)



Question Label : Comprehension

frgifea mifereT © faaw =% 59 2015 ¥ 2019 79 5 g0 FT sEfU FIRF IR S| ¢, v,
z. 7) ¥ fore wifie Tdftevoiin oot s § 99-9R ofee fRu mw §1 =9 oiest & amuR
W'ﬂ%ﬁ'%ﬁ?ﬁ'

wTfhd FdiHuiiy Sl &9 (GW) :
ay / ox X Y z T
2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105294584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

aul 2016 - 2017 P &1 (9 G A TaHNG Soll B WG & T ifimad g (9) & @ 87

1. X

2L

3.¥

4T

Options :
21052918121. 1
21052918122. 2
21052918123.3
21052918124. 4



Question Number : 32 Question Id : 2105294585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
®H-4 2% 94 2015 & &4 T 2019 9% AWHIH gfE (%) col Dl g ?

1.2

2T

3. X

4.

Options :
21052918125. 1
21052918126. 2
21052918127. 3
21052918128. 4

Question Number : 33 Question Id : 2105294586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
S 'Y & U Adieeuiig el &Fdl ©f Hgd 9t ais (%) fhaai @i g ?

1. ~10.85%
2. ~12.77%
3. ~13.25%
4 ~11.65%
Options :

21052918129. 1
21052918130. 2
21052918131. 3
21052918132. 4

Question Number : 34 Question Id : 2105294587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Udddi a4 @1 Jom1 H fodl 16T T 99 H 6y <=1/ foo <1 A 3ifidan 3ig (%) Gel @i 8 ?

£
2.Z3ARY

3.Y

4 %X3N7
Options :
21052918133. 1
21052918134 2
21052918135. 3
21052918136. 4

Question Number : 35 Question Id : 2105294588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
il aRi <=1l & s, a4 2015 & Y ¥ 9 2019 # Fdiemolig Sl &1 U & 3 999
g (%) o 8 7

3.117.32%
4,.121.81%
Options :
21052918137. 1
21052918138. 2
21052918139. 3
21052918140. 4
Sub-Section Number : 5
Sub-Section Id : 210529131
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 2105294589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation BIOS?

1. Big Information Online System
2. Binary Input Output Software
3. Basic Input Qutput System

4. Binary Inner Open Software
Options :

21052918141. 1

21052918142.2

21052918143.3

21052918144. 4

Question Number : 36 Question Id : 2105294589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BlOS TNEUT 2eg &1 Q1 &9 1 6 ?

1. 7 5=mHEE JiaE- el
2. G231 29T #f13eYe YIHeddy
3. 9 3Ye 33eye fawen

4, 1R 2R HIUH YRGR
Options :

21052918141. 1

21052918142, 2

21052918143. 3

21052918144, 4

Question Number : 37 Question Id : 2105294590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Computer hardware consists of

1. Computer table
2. Monitor and CPU
3. Software

4. Google

Options :
21052918145. 1
21052918146. 2
21052918147. 3
21052918148. 4

Question Number : 37 Question Id : 2105294590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
H BISadR § WM el & -

1. DR <qa

2. Hi-ex T gidiyg
3. GIged®

4.70d

Options :
21052918145. 1
21052918146. 2
21052918147. 3
21052918148. 4

Question Number : 38 Question Id : 2105294591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is a data visualization method?

1. Line

2. Circle and Triangle

3. Pie chart and Bar chart
4. Pentagon

Options :

21052918149. 1
21052918150. 2
21052918151. 3
21052918152. 4

Question Number : 38 Question Id : 2105294591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ye waRiiew gq Faifed d d oi-@i fafu g 2

1. 3T (@12A)

2. O a1 Ay

3. U3 9@1¢ quT R 91e
4, 4=

Options :
21052918149. 1
21052918150. 2
21052918151. 3
21052918152. 4

Question Number : 39 Question Id : 2105294592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nowadays many online courses are available and their popularity is increasing

Reason R: Selecting the right course from many such, is a big challenge

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052918153. 1

21052918154. 2

21052918155. 3

21052918156. 4

Question Number : 39 Question Id : 2105294592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy G TN B : T @l i@y (A) SR GHR @I ad (R) Pel T & ;

HYEHYH (A) : GHRIF 9gd Y SfHa1s- Usgsd 3Ude & a4l 34d] didugdl 96 Lol o
dd (R) : 39 UBR 4 9gd 4 GidUwHl H ¥ el UledshH &1 98- U dof gAld ol

U Byl b e H Fgifed famedl | 9 waifts 3uged 3w g4 -

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052918153. 1

21052918154. 2

21052918155. 3

21052918156. 4

Question Number : 40 Question Id : 2105294593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A-F system is used in which of the following number systems?

1. Binary

2. Octal

3. Hexa - Decimal
4, Decimal
Options :
21052918157. 1
21052918158. 2
21052918159. 3
21052918160. 4



Question Number : 40 Question Id : 2105294593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A -F yonel fRgifesd & @ iy e uonel & wgad g 8 7
1 ﬁlﬁfﬁéﬁ

2. ffaed
4 SfaEd
Options :
21052918157. 1
21052918158. 2
21052918159. 3

21052918160. 4

Question Number : 41 Question Id : 2105294594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under Goal 4 of Millenium Development Goals, the reduction sought to be achieved in under-
five child mortality rate between 1990-2015 was to the extent of

1. Half

2. Two-third

3. Three-fourth
4, One-third
Options :
21052918161. 1
21052918162. 2
21052918163. 3
21052918164. 4

Question Number : 41 Question Id : 2105294594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

edlsc! [dHry Tedl & ded a9l 4 H, 99 1990 - 2015 & §ig Uid a4 U HH 3 B dld Jg &3
¥ UTT 1 Sl arell Qe i i 41 2

1. 1L

2. GI-faerg

3. dH-9E
4.7 - fogis
Options :
21052918161. 1
21052918162. 2
21052918163. 3
21052918164. 4

Question Number : 42 Question Id : 2105294595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1l

Emitted Pollutants Environmental Impact

A. Carbon dioxide |. Formation of acid rain

B. Carbon monoxide II. Toxic and are carcinogenic

C. Nitrogen oxides I1l. Toxic and can cause respiratory diseases

D. Benzene and hydrocarbons V. Contribution to global warming as a
greenhouse gas

Choose the correct answer from the options given below:

TLA-IV,B-LC-1,D-1I
2ZA-IV,B-,C-1,D-Il
JA-IV,B-ILC-MLD-I
4 A-1L,B-IILC-ILD-WV
Options :

21052918165. 1
21052918166. 2
21052918167.3
21052918168. 4

Question Number : 42 Question Id : 2105294595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- Dl l-11 & gy GHferd &Y

gal-| qal-1l

ERIEGR LD ThiaR0ig HHE

A TTET SEHGAES |1 3% g9l & HH

B. BIEH AMIEGES  |IL.fa8T 9 dTeRS
C. AISeIoH ATeed (il TIa 9UT 499 e I & SR

D. Soi 3R IV. TF YH-81599 I8 & ©U H aid® arg- &I
HEEIEIERS AR
i< fgu 7Tu fo@eal 5 © Ul ST &1 90 @9 -

TA-IV,B-LC-|,D-1
ZA-IV,B-LC-1,D-1I
SA-IVB-ILC-1LD-|
AA-,B-ILC-ILD-IV
Options :

21052918165. 1
21052918166. 2
21052918167. 3
21052918168. 4

Question Number : 43 Question Id : 2105294596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contribution to global
carbon dioxide emissions

A USA
B. China
C. Russia
D. India
E. Japan

Choose the correct answer from the options given below

1.A B D CE
2B, ADCE
3.B.ADEC
4. A B, D EC
Options :

21052918169. 1
21052918170. 2
21052918171. 3
21052918172. 4

Question Number : 43 Question Id : 2105294596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o2 & 3T HE-SE3HRIEs S § 3% diGH & 3faie] ©H § gl ®4 @ UgdH @

A. JUEU
8. 9

C. =9
D. HRd
E. S
4 feu 7Y faeedl & © el IR g -

1.A B D CE
2B ADCE
3.B.ADEC
4 A B DEC
Options :

21052918169. 1
21052918170. 2
21052918171.3
21052918172. 4

Question Number : 44 Question Id : 2105294597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A windmill with proper design considerations can be made to operate at
efficiencies in the range 60% to 65%

Reason R: The efficiency of the windmill depends on its design parameters

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052918173. 1

21052918174. 2

21052918175. 3

21052918176. 4

Question Number : 44 Question Id : 2105294597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HYEYH (A) : UGd HHDHed U ied Dig Ua- 9] 60% Y 65% DI DRIGIC U3
v & o T & o1 9@dl 3

d (R) : UaH gad| Bl i pIadl 39 Hfdded Urdal U R &l g
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) U8l & U= (R) 7O B

4. (A) 7T & TR (R) el &

Options :

21052918173. 1

21052918174. 2

21052918175. 3

21052918176. 4

Question Number : 45 Question Id : 2105294598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From disaster mitigation measures given below, identify the measures which can be
characterized as non-structural

A. Flood dykes

B. Land-use zoning

C. Rasing of homes in flood-prone areas

D. Insurance programmes

E. Reinforce tornado safe rooms

Choose the correct answer from the options given below:

1. Band D only

2. A, B and D only
3. B, D and E only

4 A B, DandE only
Options :
21052918177. 1
21052918178.2
21052918179. 3
21052918180. 4

Question Number : 45 Question Id : 2105294598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id feu 71u e =g-HiHR JuEl H 9, 39 SUM (34 SUM) S S @ o/ srikfad @
&9 § Fifpd fbgr o godr s -

A. 91 deay

B. HIH - T &7 MR

C. 91g Eiftd &3 § R & W Sgl 36M
D. SHI BEHH

E. QO GRIGT D& DI Hoigd Hel
1 feu 7 fasedl # 9§ 98l S 9 -

1. ®3d B AR D

2. Pad A, B3R D
3. $aaB, D3R E
4, H3dA, B, D3R E
Options :
21052918177. 1
21052918178. 2
21052918179. 3
21052918180. 4

Question Number : 46 Question Id : 2105294599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in the feudal society of
Europe were classified under quadrivium?

A. Grammar

B. Logic

C. Arithmetic

D. Astronomy

E. Music

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
21052918181. 1
21052918182.2
21052918183. 3
21052918184. 4

Question Number : 46 Question Id : 2105294599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R & FHTAIS! GHS H TR W U JaRde] gl & Fafaiad 7 4 fod &1 o 9geg
(quadrivium) & {ld Fifepd fdaar T 7

A. TR

5. T

C. DI

D. I

E. E¥iid

1 fu 7w faeal # 9 Wel ST 94 -

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PaqaC, D 3MRE
4. H3dA DIHRE
Options :
21052918181. 1
21052918182. 2
21052918183. 3
21052918184 4

Question Number : 47 Question Id : 2105294600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Programme for Technology Enhanced Learning (NPTEL) was initiated by the MHRD in
2003 to enhance the quality in

1. Medical education

2. Agriculture education
3. Engineering education
4. Legal education
Options :

21052918185. 1
21052918186.2
21052918187. 3
21052918188. 4

Question Number : 47 Question Id : 2105294600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
9 2003 H HHE YHIEH GBI HAGT (MHRD) BRI AP WEff1e! Yafdla Hferms sriss
(NPTEL) &I FHIRad &1 Turadl § YR $3 & o I fo g1 741 o

1. i f2ram

2. Py 2&m

3. goil-a fame
4, fafere f2re
Options :
21052918185. 1
21052918186. 2
21052918187.3
21052918188. 4

Question Number : 48 Question Id : 2105294601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sustainable Development Goals (SDGs) set in 2015 by the United Nations are intended to
be achieved by

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052918189. 1
21052918190. 2
21052918191.3
21052918192. 4

Question Number : 48 Question Id : 2105294601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g wﬁmmﬁzm; § [4IRd YUy 9oy Tedl (T.3150) $1 4 db W 5T &H

1. 2025
2. 2030
3. 2035
4, 2040

Options :

21052918189. 1
21052918190. 2
21052918191. 3
21052918192. 4

Question Number : 49 Question Id : 2105294602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Modes of supply of education services

Examples of these services in education
under GATS

l. Professors, teachers and researchers working
A. Mode 1 - Cross border supply sheciad on @ tempory b

Il. Language training companies, Local
B. Mode 2 - Consumption abroad . g, J g P
university and Satellite campuses

. Ill. Distance education, Virtual education,
C. Meode 3 - Commercial presence o
Corporate training through ICT

IV. A student travels to another country to enrol
D. Mode 4 - Movement of natural persons

in a course of study/degree programme

Choose the correct answer from the options given below:

TA-IWV,B-LC-1L,D-1I
ZA-ILB-IW,C-1LD-|
JA-ILB-ULC-LD-V
4 A-1L,B-ILC-IV,D-1l
Options :

21052918193. 1
21052918194. 2
21052918195.3
21052918196. 4

Question Number : 49 Question Id : 2105294602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdl-1 T TEi-11 & e @8 G- J g & fdia e darst @1 o ol usfau i S B
- Gall-11 H e & 59 Yarsll & 3eeW0 ©

gal-| gl-1i

A UGfa-1: TE-ur |1, faesn o oreurdt SUR R S &3 38 UHhER,
TR frare SR Thed

B.Ugld-2: faa=mrd 1. v ufRiamr srufal, =i fayfaeney ok
Gud Jeage oad

C. UGfa-3 : aifvifsas 1. 3 91 &1 & g1y O greufRian, syt fRaf,
IR @URE TiIE

D. UGid-4 : Widpfa®  |Iv. Bis [qondf 3reag- & it ursgss / Tl
g3l @1 AEFET [ @EHE H AHiE & o8 guL o% 9Idl &

S R e R R e

TLA-IW,B-1,C-1,D-1
ZA-ILB-IV,C-Il,D-1
JA-ILB-LC-1,D-V
4 A-1,B-I,LC-1V,D-1I
Options :

21052918193. 1
21052918194.2
21052918195.3
21052918196. 4

Question Number : 50 Question Id : 2105294603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ashtadhyayi was written by

1. Chanakya

2. Jivaka

3. Katyayana
4. Panini
Options :
21052918197. 1
21052918198. 2
21052918199. 3
21052918200. 4

Question Number : 50 Question Id : 2105294603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HPTEAM] P TGP T :

Options :

21052918197. 1
21052918198. 2
21052918199. 3
21052918200. 4

PART II Linguistics
Section Id : 21052952
Section Number : 2

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529132
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105294604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following are symbols that communicate or represent an idea, though the
symbols may not picture the actual object?

1. Ideolect

2. Albhabet

3. Phonogram
4. ldeogram
Options :
21052918201. 1
21052918202. 2
21052918203. 3
21052918204. 4

Question Number : 51 Question Id : 2105294604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Udi® & ol (gl [9gR &1 SUNT 91 Uide Uy &3d o, 9414 9 313%9® ol & [ Udid
dRafdd avg ol I &1 :

1, e S
2. qUiHTel

3. TWoE

4, Yo
Options :
21052918201. 1
21052918202. 2
21052918203. 3
21052918204. 4

Question Number : 52 Question Id : 2105294605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT true for competence?

1. It refers to the speaker's knowledge of the language.

2. According to Chomsky, linguistics before generative grammar has been preoccupied with
performance instead of competence.

3. It refers to a system of rules which a speaker masters to be able to produce and understand
an indefinite number of sentences.

4. It is a non-idealized form of language, focussing on what is being said.

Options :

21052918205. 1

21052918206. 2

21052918207. 3

21052918208. 4

Question Number : 52 Question Id : 2105294605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

el & IR J Fgfafad 4 4 e vl 181 6 2

1. SU®] 4aY a1 & I AR YT 4 2|

2. D] & HIUR, Yo A0 & Jd HIHIa- Y&l &1 gug HAHWE- W g ol

3. 3BT UeY Ue o yomelt 9 § formd ordfiffa T & aredf &1 guee SR diaH & fau o
GESIRCIUGIRYIN G RG]

4, T8 Y9 &1 TR-TFdid Wod ¢ [ogH ®el o dra §1d U3 & aidl &

Options :

21052918205. 1

21052918206. 2

21052918207. 3

21052918208 4

Question Number : 53 Question Id : 2105294606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the given sets of verbs selects a ‘pleonastic’ subject?

1. Rain; seem; appear
. Sleep; fall; die

. Kill; hit; dig

. Give; send; put

E R O A

Options :

21052918209. 1
21052918210. 2
21052918211. 3
21052918212. 4

Question Number : 53 Question Id : 2105294606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

FefEad 9 1 4 b d efieucy o s ?

1.3 HiF ;Ui
2. &g :ﬂﬁﬂ:gl_ﬁ'
ENGIE %_cr%?f
4 ﬁIHREITS’H,_cr
Options :
21052918209. 1
21052918210. 2
21052918211.3
21052918212. 4

Question Number : 54 Question Id : 2105294607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following distinctive features can distinguish between four major classes of
speech sounds, i.e. consonants, vowels, liquids & glides?

1. Vocalic and Consonantal
2. Vocalic and Syllabic

3. Obstruent and Continuant
4. Syllabic and Approximant
Options :

21052918213. 1

21052918214. 2

21052918215. 3

21052918216. 4

Question Number : 54 Question Id : 2105294607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



q a1 ofdid oo, WR, oRa W AR 99T o 7 FHafaiad 3 ¥ g pHe® fORivar & R
R Gug o ST 9ed &

1. TWED IR AoED
2. TWIED AR MERD

3. HEERT SR Had

4, A& R AT T4
Options :

21052918213. 1
21052918214. 2
21052918215. 3
21052918216. 4

Question Number : 55 Question Id : 2105294608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Phonetic transcription implies

1. Narrow transcription

2. Transcription based on articulatory/acoustic/auditory properties

3. Transcription of speech sounds irrespective of their function in a language
4. All of the above

Options :

21052918217. 1

21052918218.2

21052918219.3

21052918220. 4

Question Number : 55 Question Id : 2105294608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HWHd Scg & drdd & -

1. Gabiof sPid

2. 3RS / G / Bt 0T & 3MYR R Scd

3. HIET H 91 61 & B Bl HH WG FIR 3d1 Hged
4. SWjed gl

Options :

21052918217. 1

21052918218. 2

21052918219. 3

21052918220. 4

Question Number : 56 Question Id : 2105294609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
An Electropalatograph produces a continuous record of the articulatory process of certain
speech sounds, which is useful for studying the

1. Place of articulation of consonant sounds

2. Manner of articulation of consonant sounds
3. Voice properties of consonant sounds

4. Voice properties of vowel sounds

Options :

21052918221. 1

21052918222.2

21052918223.3

21052918224. 4

Question Number : 56 Question Id : 2105294609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. o WA Bl 3ERY =H
2. T a1 & 3R @ [afY
3. ool %A & 91y - [0

4. TR TGl & O O

Options :

21052918221. 1

21052918222. 2

21052918223. 3

21052918224 4

Question Number : 57 Question Id : 2105294610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In order to draw a vowel quadrilateral/vowel space,

1. Fq is plotted on X axis and F; on Y axis
2. Fais plotted on X axis and Fy onY axis
3. F» is plotted on Y axis and F; - Fy on X axis
4. F4is plotted on Y axis and F; - F; on X axis
Options :

21052918225. 1

21052918226. 2

21052918227. 3

21052918228. 4

Question Number : 57 Question Id : 2105294610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Fy @I X & W AR F, @ Y 34§ W 3ifdd g I

2. Fa X & X, Y 348 IX 3ifdd frar o g

3. F @Y 38 U 3R Fo-F; @ X 318 WX 3ifoed foegr 9 g
4 F 1Y 38 IR AR Fo-F; DI X 3M& T Sifed foar idr g
Options :

21052918225 1

21052918226. 2

21052918227. 3

21052918228. 4

Question Number : 58 Question Id : 2105294611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From a Chomskyian perspective of first language acquisition,

1. rules are learnt after being taught explicity.

2. rules are learnt conscicusly after learning them from the speech of others,

3. rules are internalized consciously, after being taught by language teachers.

4. rules are internalized sub-consciously, after deriving them from the speech of others.
Options :

21052918229. 1

21052918230. 2

21052918231. 3

21052918232. 4

Question Number : 58 Question Id : 2105294611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TYH 19T 35 P HaE H 1RD] g1 Fidulicd SiPdit & SHTER -

1. 799 W97 AR W UGN 91 & 91¢ AfeEd eid &

2. e o= oafaadl & a1 o SfERTH & UM Tdd slo i Sl 8 |

3. Fam vt Ryt g1 R & geT 9= sia eI (e offd &

4. f4gm o= il & a1 ¥ 3 oy & o 91G Hadad AT H SHTENd [hu od |
Options :

21052918229. 1

21052918230. 2

21052918231. 3

21052918232. 4

Question Number : 59 Question Id : 2105294612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A language is a pro-drop language, if

1. It allows subject pronoun to drop.

2. It allows the indirect object pronoun to drop.

3. It allows the direct object pronoun to drop.

4. It allows the pronoun in a prepositional phrase to drop.
Options :

21052918233. 1

21052918234.2

21052918235.3

21052918236. 4

Question Number : 59 Question Id : 2105294612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. 39¥ G UeEY & §aH & ard gial g1l
Options :

21052918233. 1

21052918234. 2

21052918235. 3

21052918236. 4

Question Number : 60 Question Id : 2105294613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the X - bar diagram of the structure, 'The Book of Stories by O'Henry', 'The' is

1. Sister of N single bar
2. Sister of P double bar
3. Sister of N double bar
4. Sister of P Single bar
Options :

21052918237. 1
21052918238. 2
21052918239. 3
21052918240. 4

Question Number : 60 Question Id : 2105294613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. N Uhd aR B [T
2. P Y R &I G
3. N 59 OR @l &R
4. P Uthdl 9R & %X
Options :
21052918237. 1
21052918238. 2
21052918239. 3
21052918240. 4

Question Number : 61 Question Id : 2105294614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The term used in Sanskrit grammar for a special class of twenty prepositional particles prefixed
to verbs or action nouns

1. Nama

2. Upsarga

3. Nipata

4. Akhyata
Options :
21052918241. 1
21052918242.2
21052918243.3
21052918244. 4

Question Number : 61 Question Id : 2105294614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. -H

2. 3uH

ENE IR

4. SfEld
Options :
21052918241. 1
21052918242.2
21052918243. 3
21052918244. 4

Question Number : 62 Question Id : 2105294615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Expressions such as 'therefore’, "however', "on the other hand", relate a portion of earlier
discourse to later part. They are categorised under

1. Stylistic marker

2. Discourse marker
3. Discourse deictics
4. Discourse pattern
Options :
21052918245. 1
21052918246. 2
21052918247. 3
21052918248. 4

Question Number : 62 Question Id : 2105294615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Acivid fag®
2. ifed faed
3. Hifea e
4, ifaq e
Options :
21052918245. 1
21052918246. 2
21052918247.3
21052918248. 4

Question Number : 63 Question Id : 2105294616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"She was wearing a charming smile and a pair of new shoes”, is an example of

1. Ambiguity
2. Zeugma

3. Vagueness
4. Fuzziness
Options :
21052918249. 1
21052918250. 2
21052918251.3
21052918252. 4

Question Number : 63 Question Id : 2105294616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Gfermded
2. ST

3. SIRGEdI

4. YA
Options :
21052918249. 1
21052918250. 2
21052918251. 3
21052918252. 4

Question Number : 64 Question Id : 2105294617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An expression is said to characterise if it has more than one possible distinct meaning

1. Ambiguity
2. Vagueness
3. Haziness
4. Fuzziness
Options :
21052918253.
21052918254.
21052918255.
21052918256.

AW N~

Question Number : 64 Question Id : 2105294617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GieTurdedr
2. SIRUEdl

3. §Hega

4, =3O
Options :
21052918253. 1
21052918254. 2
21052918255.3
21052918256. 4

Question Number : 65 Question Id : 2105294618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The central topics of linguistic pragmatics are those aspects of meaning which are

1. Dependent on dictionary meaning
2. Dependent on context

3. Stable meaning

4. System for communicating
Options :

21052918257. 1

21052918258.2

21052918259. 3

21052918260. 4

Question Number : 65 Question Id : 2105294618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2 Tl R aea &

3, =l d gd ©
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Options :

21052918257. 1

21052918258 2

21052918259. 3

21052918260. 4

Question Number : 66 Question Id : 2105294619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sound change in which a sound is inserted at the beginning of a word is known as

1. Anaptyxis
2. Prothesis

3. Syncope

4. Aphaeresis
Options :
21052918261. 1
21052918262. 2
21052918263. 3
21052918264. 4

Question Number : 66 Question Id : 2105294619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1, fauad

2. HfeHfeld
3. Ay

4, 3If¢ Ta
Options :
21052918261. 1
21052918262. 2
21052918263.3
21052918264. 4

Question Number : 67 Question Id : 2105294620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A method which is suggested by Swadesh (1940) investigates the relationship between two
languages to determine approximate dates of separation of the two languages is known as:

1. Lexicostatistics

2. Multilateral comparison
3. Glottochronolegy

4. Internal reconstruction
Options :

21052918265. 1
21052918266. 2
21052918267.3
21052918268. 4

Question Number : 67 Question Id : 2105294620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Teq, Filegdm!

2. 9gUsia ga-n

ER I CANE A GRIE]
4, iaRe GGl
Options :
21052918265. 1
21052918266. 2
21052918267. 3
21052918268. 4

Question Number : 68 Question Id : 2105294621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

By which one of the following laws, we expect the / b / of Sansknit to correspond to / p / in
Germanic and we expect Germanic / b / to correspond te Sanskrit / b" / and Greek / ph s?

1. Grimm’s Law

2. Grassman's Law
3. Verner's Law

4, Watkin's Law
Options :
21052918269. 1
21052918270. 2
21052918271. 3
21052918272. 4

Question Number : 68 Question Id : 2105294621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B ar

2. g |l
.Egar

4, grefe-g a1
Options :
21052918269. 1
21052918270. 2
21052918271. 3
21052918272. 4

Question Number : 69 Question Id : 2105294622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A sound change, in which a sound is lost and another segment (usually a vowel) is lengthened
is known as

1. Compensatory Epenthesis

2. Compensatory strengthening
3. Compensatory lengthening
4. Vowel lengthening

Options :

21052918273. 1

21052918274.2

21052918275. 3

21052918276. 4

Question Number : 69 Question Id : 2105294622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. UidRe ifufAfgia
2. UidO3d Gegidu
3. UIdUR® IeipRul
4, T i@
Options :
21052918273. 1
21052918274, 2
21052918275. 3
21052918276. 4

Question Number : 70 Question Id : 2105294623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following planning types involves the selection and codification of language
norms like the development of orthography, new sources of vocabulary, dictionaries etc?

1. Status

2. Corpus

3. Research

4, Lexicon
Options :
21052918277. 1
21052918278.2
21052918279. 3
21052918280. 4

Question Number : 70 Question Id : 2105294623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uffd

2. g

3. XMy

4, G dyg

Options :

21052918277. 1
21052918278. 2
21052918279. 3
21052918280. 4

Question Number : 71 Question Id : 2105294624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The language that has provided most of the vocabulary to a pidgin or creole is called

1. Uniplex

2. Concord

3. Lexifier

4, Shibboleth
Options :
21052918281. 1
21052918282.2
21052918283. 3
21052918284. 4

Question Number : 71 Question Id : 2105294624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. Jf=afd

3. DIEPRD
4, Rr&icy
Options :
21052918281. 1
21052918282. 2
21052918283. 3
21052918284. 4

Question Number : 72 Question Id : 2105294625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The term wherein speakers are seen as proactively designing their speech to the needs of a
particular audience and encapsulation of the presumed motive for the behaviour is

1. Speaker design

2. Social Network

3. Participant observation
4. Audience design
Options :

21052918285. 1
21052918286. 2
21052918287. 3
21052918288. 4

Question Number : 72 Question Id : 2105294625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 9ol 3ff¥ded
2. grES® Head
3. giayrft vagor
4. T AfHe
Options :
21052918285. 1
21052918286. 2
21052918287. 3
21052918288. 4

Question Number : 73 Question Id : 2105294626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is true for the 'principle of accountability'?

1. If it is possible to define a variable as a closed set of variants, all of the variants (including
non-occurrence if relevant) must be counted.

2. If it is possible to define a variable as a closed set of variants, only the non-occurring
variables must be counted (excluding the occurring ones).

3. It also applies for pragmatically motivated variables like discourse markers.

4. It does not apply to grammatical variables.

Options :

21052918289. 1

21052918290. 2

21052918291.3

21052918292. 4

Question Number : 73 Question Id : 2105294626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

21052918289. 1

21052918290. 2

21052918291. 3

21052918292. 4

Question Number : 74 Question Id : 2105294627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
An aspirated series of both voiceless and voiced stops, producing a four-way contrast / p, ph,
b, bh / at all five basic points of articulation is

1. Normal and distinctive in all N/A languages.
2. Is distinctive in some N/A languages.

3. Is distinctive only in Western Hindi.

4. |s distinctive only in Bihari.

Options :

21052918293. 1

21052918294. 2

21052918295.3

21052918296. 4

Question Number : 74 Question Id : 2105294627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052918293. 1

21052918294. 2

21052918295. 3

21052918296. 4

Question Number : 75 Question Id : 2105294628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In modern linguistic theory, "sprachbund” usually designates

1. Linguistic features shared by number of unrelated languages.
2. Linguistic features shared by cognate languages.

3. Linguistic features shared by geneclogically related languages.
4. Linguistic features shared by non-contiguous languages.
Options :

21052918297. 1

21052918298. 2

21052918299. 3

21052918300. 4

Question Number : 75 Question Id : 2105294628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. ATgg Ui | [GeEmE gy Gees
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3. 3T © Jag Y H e sy forins
4, TR Geodd YN o faegaH Qe fages
Options :

21052918297. 1

21052918298 2

21052918299. 3

21052918300. 4

Question Number : 76 Question Id : 2105294629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Despite the fact that N/A languages are characterized by distinctive aspiration, which of the
following lack aspiration?

1. Assamese and Romany.
2. Sinhalese.

3. Classical Marathi.

4. Gujarati.

Options :

21052918301. 1
21052918302. 2
21052918303. 3
21052918304. 4

Question Number : 76 Question Id : 2105294629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GHT SR I
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Options :
21052918301. 1
21052918302. 2
21052918303. 3
21052918304. 4

Question Number : 77 Question Id : 2105294630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Garhwali and Kumaoni are grouped by Grierson as

1. Central Pahari
2. Western Pahari
3. Northern Pahari
4, Eastern Pahari
Options :
21052918305. 1
21052918306. 2
21052918307. 3
21052918308. 4

Question Number : 77 Question Id : 2105294630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. H4 Uglo!
2. Ui ugrst
3. Ikl Uglal
4. gdi ugrst
Options :
21052918305. 1
21052918306. 2
21052918307. 3
21052918308. 4

Question Number : 78 Question Id : 2105294631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The other branch of Austroasiatic stock Mon-Khmer, is represented by

1. Nehali

2. Burushaski
3. Khasi

4, Mundari
Options :
21052918309. 1
21052918310. 2
21052918311. 3
21052918312. 4

Question Number : 78 Question Id : 2105294631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918309. 1
21052918310. 2
21052918311.3
21052918312. 4

Question Number : 79 Question Id : 2105294632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Brown's 1973 study on the order of acquisition of certain grammatical morphemes in English,
primarily revealed that

1. Children acquire morphemes in different orders.

2. Children acquire morphemes at different rates.

3. Both Answer option 1 and Answer option 2 above are correct.
4. Answer option 1 is incorrect but Answer option 2 is correct.
Options :

21052918313. 1

21052918314.2

21052918315. 3

21052918316. 4

Question Number : 79 Question Id : 2105294632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918313. 1
21052918314.2
21052918315. 3
21052918316. 4

Question Number : 80 Question Id : 2105294633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
CDS is like Baby Talk which is

1. The speech of the babies in early development.

2. The speech of the adults and older children directed towards babies
3. The systematic record of babies' early speech.

4. Babies interaction with mothers.

Options :

21052918317. 1

21052918318. 2

21052918319. 3

21052918320. 4

Question Number : 80 Question Id : 2105294633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918317. 1

21052918318. 2

21052918319. 3

21052918320. 4

Question Number : 81 Question Id : 2105294634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Patient-centred approaches to languages assessment aim to

1. Describe patient’s language deficit and ability to communicate in everyday situations.

2. Determine to what extent the patient's language conforms to normalcy conditions.

3. Determine to what extent the patient's performance is influenced by age, sex, culture and
other such factors.

4. All of the above.

Options :

21052918321. 1

21052918322.2

21052918323.3

21052918324. 4

Question Number : 81 Question Id : 2105294634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918321. 1
21052918322. 2
21052918323. 3
21052918324. 4

Question Number : 82 Question Id : 2105294635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Take the leap of joy" is an example of

1. Metaphor
2. Metonymy
3. Simile

4, Homonym
Options :
21052918325. 1
21052918326. 2
21052918327.3
21052918328. 4

Question Number : 82 Question Id : 2105294635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918325. 1
21052918326.2
21052918327.3
21052918328. 4

Question Number : 83 Question Id : 2105294636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In lexicography, "field label” refers to

1. Meaning in a certain sphere of activity.
2. Expert concept.

3. Expressive meaning.

4, Entry.

Options :

21052918329. 1

21052918330. 2

21052918331.3

21052918332. 4

Question Number : 83 Question Id : 2105294636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918329. 1

21052918330. 2

21052918331. 3

21052918332. 4

Question Number : 84 Question Id : 2105294637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A type of reference work which presents factual information in a wide range of subject
disciplines is known as

1. Dictionary index.

2. Electronic Dictionary.

3. Encyclopedia.

4. Etymological dictionary.
Options :

21052918333. 1
21052918334.2
21052918335.3
21052918336. 4

Question Number : 84 Question Id : 2105294637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918333. 1
21052918334. 2
21052918335. 3
21052918336. 4

Question Number : 85 Question Id : 2105294638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A translation that takes greater account of the aesthetic value and allows for the translator's
intuitive empathy with the original is

1. Adaptation.

2. Free Translation.

3. Faithful Translation.
4, Semantic Translation.
Options :

21052918337. 1
21052918338. 2
21052918339. 3
21052918340. 4

Question Number : 85 Question Id : 2105294638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918337. 1
21052918338. 2
21052918339. 3
21052918340. 4

Question Number : 86 Question Id : 2105294639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: ‘'The subject of an intransitive verb and the direct object of the transitive verb is
in the same case form, that is, absolutive case,’ defines the Ergative languages.

Statement lI: Languages with Ergative - Absoclutive case system may have object - verb
agreement.

In light of the above statements, choose the correct answer from the options given below :

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement 1l is false.
4. Statement | is incorrect but Statement |l is true.
Options :

21052918341. 1



21052918342.2
21052918343. 3
21052918344. 4

Question Number : 86 Question Id : 2105294639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
CIERAR RICRTALRI

U - | ; ADHHD Y D] Bl AR IHHP (ehT] B UHH HH TIHPRS =4 Yiq Fufas
PR® ¢, T8 Badl YTl H1 ot #ar ¢

HU - 11 ; Bl - FRUTES HR® yorel arel Jrersf § w4 - G s 8 9od 8
IUged HYHl & el H Fiiehd famedl H U ¥El I I -

1. YT - | AR FPYF - 11 GHI Tel &

2. FYT - | IR BYA - 1 GHI TTd &

3. %Y - 1 T &, b Y - 1 T B |
4, YT - | ATT B, g BYT - 1| T B
Options :

21052918341. 1

21052918342. 2

21052918343. 3

21052918344. 4

Question Number : 87 Question Id : 2105294640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R.

Assertion A: An infinitive form of verbs does not have the tense, aspect and mood markers

and thus it can't be the only verbal element in the sentence.

Reason R: A sentence has to have a finite verb because of agreement with the subject and for
the purpose of case assignment (i.e. both INFL = Nominative & Verb = Accusative).

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052918345. 1

21052918346.2

21052918347. 3

21052918348. 4

Question Number : 87 Question Id : 2105294640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918345. 1

21052918346. 2

21052918347.3

21052918348. 4

Question Number : 88 Question Id : 2105294641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The Phonological Rules form a set of rules which mediate between the
systematic phonemic level and the systematic phonetic level.

Statement lI: The Phonological Rules of a language constitute an ordered set since the output
of the same rules provide input to the others

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052918349. 1

21052918350. 2

21052918351. 3

21052918352. 4

Question Number : 88 Question Id : 2105294641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918349. 1

21052918350. 2

21052918351. 3

21052918352. 4

Question Number : 89 Question Id : 2105294642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Copy theory of movement assumes that movement is 8 composite operation
involving two sub-operations of copying and deletion.

Statement lI: In the copy theory, a moved constituent leaves behind a copy of itself when it
moves, with the copy generally having its phonetic features deleted and so being null.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052918353. 1

21052918354.2

21052918355. 3

21052918356. 4

Question Number : 89 Question Id : 2105294642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918353. 1

21052918354. 2

21052918355. 3

21052918356. 4

Question Number : 90 Question Id : 2105294643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Semanticists aim to explain the meaning of each sentence as arising from, on the
one hand, the meanings of its parts, on the other, the manner in which parts are put together.

Statement li: That is what a compositional theory of meaning amounts to.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052918357. 1

21052918358.2

21052918359. 3

21052918360. 4

Question Number : 90 Question Id : 2105294643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918357. 1
21052918358. 2
21052918359. 3
21052918360. 4

Question Number : 91 Question Id : 2105294644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: All the languages that descended from a common ancestor are said to constitute
a family of languages.

Statement lI: Two or more related languages are sometimes referred to as 'sisters’ and
languages descended from an earlier language are usually called "daughter’,

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052918361. 1

21052918362. 2

21052918363. 3

21052918364. 4

Question Number : 91 Question Id : 2105294644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918361. 1
21052918362. 2
21052918363. 3
21052918364. 4

Question Number : 92 Question Id : 2105294645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Micro Sociolinguistics investigates how social structure influences the way
people talk and how language varieties and patterns of use correlate with social attributes like
class, gender, age etc,

Statement lI: Macro Sociolinguistics studies what societies do with their languages,
i.e., attitudes and attachments that account for the functional distribution of speech forms in
society.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052918365. 1

21052918366. 2

21052918367. 3

21052918368. 4

Question Number : 92 Question Id : 2105294645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



CIERA LT AT

DY - | : Y& GHTS - HIYT fag= H 39 91d &1 ofid &) Wl 6 i e Tl Sg-1 il ol
difadar & UHIfdd ddl & AR fobd UBR HINT dfdey SR vk Ge- wfd, o, o, 3aie ol
graTfed HiYae ¥ 98 =i g B

DU - 1| ; &H FHI - HINT fa5H 5 IS &1 | & 91y §did, 3Yid GH § ai) @Edl &
UM [daul & 0L STl ddeR] i el @1 <5 [ oidl o

SWdd &1 & 3fcid H [fciiad fdeddl 5 9 98l 3w 94 :

1. DY | 3R 1| GHT gl
2. Y | 3R || GFf Tad &
3. Y1 9d &, fdorg &Y 11 TAd B
4. DY | AHA § , fooq YA 11 Bl B

Options :

21052918365. 1
21052918366. 2
21052918367. 3
21052918368. 4

Question Number : 93 Question Id : 2105294646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: The Dravidian languages are agglutinating.
Reason R: There are no prefixes or suffixes.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052918369. 1

21052918370.2

21052918371. 3

21052918372. 4

Question Number : 93 Question Id : 2105294646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918369. 1
21052918370. 2
21052918371. 3
21052918372. 4

Question Number : 94 Question Id : 2105294647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement I: Areal linguistics has been facing the problem of the number of features
necessary to distinguish between proper "Sprachbund” and simple contact phenomena.

Statement li: The similarities of linguistic area should not be trivial.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052918373. 1

21052918374. 2

21052918375.3

21052918376. 4

Question Number : 94 Question Id : 2105294647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918373. 1
21052918374.2
21052918375. 3
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Question Number : 95 Question Id : 2105294648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: A distinct difference between a phrase and a compound word is that a
compound word can be without a head, but a phrase can never be without a head.

Statement lI: English compound words such as 'ladyfingers’ and 'butterfingers' are called
exocentric compounds and none of the words in the compound, function as the head of the
compound.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052918377. 1

21052918378. 2

21052918379.3

21052918380. 4

Question Number : 95 Question Id : 2105294648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918377. 1
21052918378. 2
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21052918380. 4

Question Number : 96 Question Id : 2105294649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Spectrum of a sound wave shows frequencies of the constituent waves on X-axis
and respective amplitudes on Y-axis.

Statement lI: Spectrogram is a visual representation of all the three features of constituent
waves, namely time, frequency and intensity.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052918381. 1

21052918382. 2

21052918383.3

21052918384. 4

Question Number : 96 Question Id : 2105294649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



CIERA LT AT

HYF - | : T T & WaeH J FHET T 61 Mgl i x 318 IR 3R Faftd 3mami ol v 318 R
I ST

DY - 11 ; HaegH FEET a8 o gy diF1 fane siufa w9g, sigf ofR digar &1 =xgaH
PR uES

IWjdd BYHT & el J id feu e fqm e & ¥ galfis Suged 3w o ;

1. YA | 3R || aFf T8l el

2. T | AR GH Tad g

3. BY 1 98l & , fdsqg YA 11 7177d B
4. DYF 1 7Tad & , T YA 11 T8l B
Options :

21052918381. 1

21052918382. 2

21052918383. 3

21052918384. 4

Question Number : 97 Question Id : 2105294650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Total loss of communication ability due to injury to certain parts of the brain is
referred to as Global Aphasia.

Statement lI: Loss of communication ability due to inability to comprehened any linguistic
communication is referred to as Broca's Aphasia.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052918385. 1

21052918386. 2

21052918387.3

21052918388. 4

Question Number : 97 Question Id : 2105294650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



CIERA LT AT

HYF - | : AT & $B U H dIc W D DR YT &1 & Ui 201 $I dFES drmard &
LEIRAREIGIN]

Y - 11 - fooedt YRl Towor &1 s@aty &Ear H SH&EdT & HROT SUNT A & STYd @f
Fi%] ® gAY Sgl S ¢

SWad B! & 3fcid J Fafaiad famedl H 9 gaifde 3uged 3w 94 :

1. DY | 3R 1| GHT gl
2. Y | 3R || GFf Tad &
3. Y1 9d &, fdorg &Y 11 TAd B
4. DY |1 7T7d & , fdbwg Y 1| TB! B

Options :

21052918385. 1
21052918386. 2
21052918387. 3
21052918388. 4

Question Number : 98 Question Id : 2105294651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Sign language is a system of communication that includes symbolic
language like any other natural, human language.

Statement li: Sign language uses hand shapes and hand movements i.e,, visual medium
instead of speech (oral-auditory medium).

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052918389. 1

21052918390. 2

21052918391.3

21052918392. 4

Question Number : 98 Question Id : 2105294651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



CIERA LT AT

YU - | ; Gbd HTYT YUY B dg HUCH & foraH fdodl o-g SgRid HHdg YISl &1 Hifd f
UdihIe® HI9T IHd ol

WY - || ; Yo HINT H 919 @G (HIRE® - St JA15H) B a9 swidid AR saaga,
TIOHM A1 H ®1 3UgHT fdbdr il g |

IWjdd BYHT & el J id feu e fqm e & ¥ galfis Suged 3w o ;

1. DY | 3R 1| GHT gl
2. Y | 3R || GFf Tad &
3. Y1 9d &, fdorg &Y 11 TAd B
4. DY |1 7T7d & , fdbwg Y 1| TB! B

Options :

21052918389. 1
21052918390. 2
21052918391. 3
21052918392. 4

Question Number : 99 Question Id : 2105294652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: WordNet makes use of relational semantics rather than componential semantics
as the instrument of disambiguation.

Reason R: Expressing meanings as a combination of features which are correct and complete
is unattainable due to the world of concepts being a continuum and fuzzy.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052918393. 1

21052918394. 2

21052918395. 3

21052918396. 4

Question Number : 99 Question Id : 2105294652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy RT T T Ta @ Sy (A) AR G @ d (R) Dol T 6

HYEHYH () ; go-¢ [qUferurdad gidd & w0 H uea i o [dgH & wie Jdutas o fagH
HT UG P 5|

dd (R) : ToT AR gl A& & Taioq & w0 H o o9ad S S § a4l SdhedHl ol
gra W § 2R oy wwlt o B

Swad B! & afTaie § Fgiftd fadedl § 4 98l SR 91 ;

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5

2. (A) 3R (R) GHI 8l & U (R), (A) B Fgl AT el &

3. (A) TE1 8 R (R) TE1 T &

4. (A) Hgl el & U (R) TEI B

Options :

21052918393. 1

21052918394, 2

21052918395. 3
21052918396. 4

Question Number : 100 Question Id : 2105294653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Persuasive appeals couched in metaphorical language should be used.

Reason R : Advertisers recognize that much of our conceptualization of experience is
metaphorical and a great deal of our thinking is constituted by metaphorical mappings.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052918397. 1

21052918398. 2

21052918399. 3

21052918400. 4

Question Number : 100 Question Id : 2105294653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy RT T T Ta @ Sy (A) AR G @ d (R) Dol T 6
HYEHYH (A) ; ATABRI Ui TP B HIET H fooa1 &1 F1fev]

d (R) : fasTU® g8 A § [ eAR 34 &1 ISR Ghedal TUSHM idl & 31X SHRI
e Fad Tue™ At 3 fAfd gk g

Sudd &1 & 3cid § FHgifcd fadedl § 1 el 3w 94 ;

1. (A) 3R (R) GFI U8l & 3R (R), (4) BI Hel ARAT B |

2. (A) 3R (R) GHI 8l & U (R), (A) B Fgl o1 6] &

3. (A) H8l 8 T (R) Hel Te! o

4. (A) Hgl el & U (R) TEI B

Options :

21052918397. 1

21052918398. 2

21052918399. 3
21052918400. 4

Question Number : 101 Question Id : 2105294654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R;

Assertion A: Gender has disappeared altogether in Bengali, Assamese and Odiya to
which may be added Bishanpuria and Sadri.

Reason R: Far from being aberrant, this Eastern loss of gender can be seen as the outcome of
the phonological erosion of O/A terminations, and the absence of the sense of gender from
the verb.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052918401. 1

21052918402. 2

21052918403. 3

21052918404. 4

Question Number : 101 Question Id : 2105294654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy RT T T Ta @ Sy (A) AR G @ d (R) Dol T 6

HYEHYH (A) ; STCH, S ok S v # o gufa: faqu g1 man & forgd famHgiar #iR
gredl @ A [&ar 91 9%l o

ad (R) : faquemd 819 &1 o1 ot ¥ 381, gdf &t & fo &1 arg off o U 3fguH & wiifhe
AR AR foran T o e g 8H & Ufawa & 4 F o@l o 96dl 6

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) 31R (R) GHI G&1 & U (R), (A) B Yol oar&] el o
3. (A) 981 & TR (R) ¥ol Te! &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

21052918401. 1

21052918402. 2

21052918403. 3

21052918404. 4

Question Number : 102 Question Id : 2105294655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following concepts in the order in which they are used in morphology to analyse
the internal structure of words

A. Morph

B. Allomorph

C. Morpheme

D. Zero morpheme
E. Zero-allomorph

Choose the correct answer from the options given below:;

1.A CBED
2.C,ABDE
3B.ACDE
4 A B D CE
Options :

21052918405. 1
21052918406. 2
21052918407. 3
21052918408. 4

Question Number : 102 Question Id : 2105294655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafaiad sayRoms ®f 39 ®9 § caid Sifet fogwd | ©0d fagH © 4 Teal & Al
W= fa=awn & FAffa vgad Bl ©

(A) =Y

(B) SUFRY

(C) =gH

(D) ST =10

(B) }F Suxy

i feu 7w fgoeul # ¥ U5l 3w gHU:

1.A CBED
2CABDE
3B.A CDE
4 A B, D, CE
Options :

21052918405. 1
21052918406. 2
21052918407. 3
21052918408. 4

Question Number : 103 Question Id : 2105294656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following books in the correct chronological order from the most recent to the
earliest

A. Knowledge of Language

B. Minimalist Program

C. Syntactic Structures

D. Aspects of The Theory of Syntax

E. Lectures on Government and Binding

Choose the correct answer from the options given below

1.C,D, A EB
2.C,ABDE
3.B.ADEC
4B A EDC
Options :

21052918409. 1
21052918410. 2
21052918411. 3
21052918412. 4

Question Number : 103 Question Id : 2105294656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad oiagl @I snyHodd 9 UiFaH Siosd © HUR TR gogaiedd HIfed ;
(A) Al (P g

(B) A= Uam

() Rfded wod

(D) HRUTEH b & W 3t Ricw

(F) Tiaa¥ 3H[F Ta-He UUS SI5ieT

i feu ¢ famedl # 9 wel I g :

1.C,D AEB
2CABDE
3.B.ADEC
4B AEDC
Options :

21052918409. 1
21052918410. 2
21052918411. 3
21052918412. 4

Question Number : 104 Question Id : 2105294657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order

A. Grice, H. P. "Studies in The Ways of Words".

B. Austin, J. L. "How To Do Things with Words".

C. Lakoff, George "Women, Fire and Dangerous Things".
D. Leech Geoffrey, N "Principles of Pragmatics”

Choose the correct answer from the options given below

1A B CD
2.D,CBA
3.B.D,C A
4.C, D B A
Options :
21052918413. 1
21052918414. 2
21052918415.3
21052918416. 4

Question Number : 104 Question Id : 2105294657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FAfead & DI ANTER Youdiyd ®- -
(A) 715, T9. . w3l 37 € a9 1P aau”
(B) A%, S, T, ~ 813 ¢ 3 v 9 agd
(C) TPk, Hle 38, BRR €8 3oy fim
(D) Tig, waih! - fifueg offe tfeay

- feu 7Y famedl & ¥ Wl 3w g

1.ABCD
2.D,C B A
3.B,.D,C A

4 C, DB A
Options :
21052918413. 1
21052918414. 2
21052918415. 3
21052918416. 4

Question Number : 105 Question Id : 2105294658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following books / articles in the correct chronological order of dates they were
first published, from the earliest to the most recent

A. 'Directions in Sociolinguistics' by Gumperz and Hymes (ed).
B. 'Language’ by Bloomfield.

C. 'Languages and Social Networks' by Milroy.

D. 'Code Switching in Conversation' by Auer (ed).

E. '‘Diglossia’ by Ferguson.

Choose the correct answer from the options given below

1.A B CD,E
2.C,DAEB
3B EACD
4D,AEB,C
Options :

21052918417. 1
21052918418. 2
21052918419. 3
21052918420. 4

Question Number : 105 Question Id : 2105294658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeied Tes! / SHeral ®f 39 UYH UHIRH & 49X Ued § 95 & HH H DICkhHER
gogafeyd o :

(A) THIG! 37R B9 BRI dUIGd SHNaRd 3 Al f[faRea
(B) sHthes A ciae -

(€) FreRTg gRT I diaus TS Aied Hedd

(D) 37TR gRI Yulfed ®is Rafd 39 a-ada

() TrgH gRI dd SEidir

Fafeiad 5 4 9el S g9

1.A, B, C D,E

2.C,D,AEB

3.B,EACD

4.D,AEB,C

Options :

21052918417. 1

21052918418 2

21052918419. 3
21052918420. 4

Question Number : 106 Question Id : 2105294659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order

A. Fowler R.: Essays on Style and Language

B. Fowler R.: Linguistic Criticism

C. Fowler R.: The Languages of Literature

D. Fowler R.: Literature as Social Discourse

Choose the correct answer from the options given below

1A B CD
2B AD,C
3.A,CDB
4.D,C B A
Options :
21052918421. 1
21052918422. 2
21052918423.3
21052918424. 4

Question Number : 106 Question Id : 2105294659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FARITER 1 IO HITAR oared o
(A) B3R, 3R : U9 31 ¥I5d Us a9
(B) IS, 3R : faigie® fpleRes

(C) BISTR, 3R : G ool 315 feea
(D) B3R, 3R : [oresas oo 9E| (oo
i fou 0 fgwenl 7 ¥ wEl S g

1.ABCD
2B AD,C
3.3ACDB

4 D,C B A
Options :
21052918421. 1
21052918422. 2
21052918423. 3
21052918424. 4

Question Number : 107 Question Id : 2105294660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following books in the correct chronological order of dates they were first
published, from the earliest to the most recent.

A.'Language, its Nature, Development and Origin’ by O. Jespersen.
B. 'Course in Modern Linguistics’ by C. Hockett.

C. 'Sound Patterns of English' by N. Chomsky & M. Halle.

D. 'Language as a Social Semiotic’ by M. Halliday.

E. 'On Nature and Language' by N. Chomsky.

Choose the correct answer from the options given below

1.A B CD,E
2ZACEDB
3.B.CAED
4B CEDA
Options :

21052918425. 1
21052918426. 2
21052918427.3
21052918428. 4

Question Number : 107 Question Id : 2105294660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeled @] o1 370 TuH ToRH 3 Y & $UR IR U5 ¥ 816 & HH § PRipAaR
Goaieyd N :

(A) 3. TETET P TS : 328 R, SaadHe Us HIRFoH"

() . g Pa DY g7 Ale fraRea

(C) T ARD! iR B $d 938 Je-q 3t Sfemr

(D) TS P e Tol ¢ Wi R -

(E) T.AIRD! Bd A a1 €S ool
1 feu 7 fasedl # 9 951 3w 9iFY

1.A B CD,E
2ZACEDB
3.B.CAED
4B CEAD
Options :

21052918425. 1
21052918426. 2
21052918427. 3
21052918428. 4

Question Number : 108 Question Id : 2105294661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following books in the correct chronological order of dates they were first
published, from the earliest to the most recent.

A. 'Course in Modern Linguistics' by C. Hockett

B. ‘A First Language: The Early Stages' by R. Brown

C. 'Principles of Pragmatics' by G. N. Leech

D. 'The Language Instinct’ by S, Pinker

E. 'On Nature and Language' by N. Chomsky

Choose the correct answer from the options given below

1.B.A CED
2D, B CAE
3ABCDE
4. C,ED AB
Options :

21052918429. 1
21052918430. 2
21052918431.3
21052918432. 4

Question Number : 108 Question Id : 2105294661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafiiad Tam! @ 390 UYH USHRH @) [diY © 39R Ued J 916 & HH § SIaHHHaR
goaaryd &t

() " B 39 A fafiafead -, 91 gide g fafaa

(B) " B iidol : G el Wolol ", 3R. F3 GRI feiRad

(c) "R o UrEfeas +, Sieq. oig g fatad

(D) G T"dw saicae ", @9, fiex gr fafad
(E) " HIF 7R U3 Tvael” , O diR®! gl fardd
i feu e famedl § O 98 IR 9T

1.B.A CED
2D, B CAE
3ABCDE
4. C,ED AB
Options :
21052918429. 1
21052918430. 2
21052918431. 3
21052918432. 4

Question Number : 109 Question Id : 2105294662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A non-finite verb in English can have

A. Person, number and gender marking

B. Tense, aspect and mood marking

C. Only aspect marking

D. Only tense marking

E. Only mood marking

Choose the most appropriate answer from the options given below:

1. A and B only
2. C only

3. Cand D only
4. E only
Options :
21052918433. 1
21052918434.2
21052918435.3
21052918436. 4

Question Number : 109 Question Id : 2105294662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



STt wrer # sffqey fobar H -

(A) & a9 R e Fofa &1 §aa &

(B) BI9, U&l SR gy Fofg gl 9sdi 8|

(C) Sad ual Fufg gl Sdar g |

(D) B9 IS (U Bl Hahell 5

(E) Haa giti i 8l godr |

i feu T famedl § ¥ Faiite 3ugad 3R gHU :

Options :

21052918433. 1
21052918434. 2
21052918435. 3
21052918436. 4

Question Number : 110 Question Id : 2105294663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



An infinite form of the verb in English has

A. No person, number & gender marking

B. No tense, aspect and mood marking

C. Only person marking

D. Only tense marking

E. Only aspect & mood marking

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. E only
Options :
21052918437. 1
21052918438.2
21052918439.3
21052918440. 4

Question Number : 110 Question Id : 2105294663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TS yTeT H fhar & gRd T U H

(A) ToY: ga- AR fei FAofa =2t siar g1

(B) TICE: Uef 3R gy Fvfa i grar 2

(C) bad Y& B U gidl 8|

(D) Bad DI UG Bial o

(E) haa &l IR gy Fofa gar &1

Fafeiad famedl § ¥ Faiide 3udad 3w 9T ;

Options :

21052918437. 1
21052918438. 2
21052918439. 3
21052918440. 4

Question Number : 111 Question Id : 2105294664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In many Indian languages, a causative marker that causatizes the verb is supposed to
A. Increase the number of arguments/actants of the verb

B. Weaken the verb semantically

C. Make the verb infinitive

D. Make the verb non-finite

E. Make the verb into a noun

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. A only

4. D and E only
Options :
21052918441. 1
21052918442.2
21052918443. 3
21052918444. 4

Question Number : 111 Question Id : 2105294664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dgd 4 YRag yrsH! J dromde fage ford fovdn § o &1 IR Hid 344 gidl § 99d aR |
1 SHUET Bl STl 6 ;

A) U o 399 9oy 931 UG / S &I 9 §¢ |
B) 399 3o =P ¥ fobar gaia &l

(€) 399 fobar g =41

(D) 554 fobar afga gl wie

(E) U9 fdpa1 931 &4 9|

i feu T famedl § ¥ Faiite 3ugdd 3R gHU

1. B3 (A) R (B

2 %ﬂﬂﬁ{ﬁ}aﬁI

3. Pad (A)

4, ®dd (D) 3R (F)
Options :
21052918441 1
21052918442, 2
21052918443. 3
21052918444 4

Question Number : 112 Question Id : 2105294665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A portmanteau morpheme is defined as

A. A morpheme that occurs in any environment

B. A form of a word that occurs independently

C. A single morph that can be analysed intc more than one morpheme

D. A morpheme that restricts the meaning of a word to only one meaning
E. A morpheme that changes the semantic meaning of the word

Choose the most appropriate answer from the options given below:

1. A and B only
2. C only

3. A only

4. D and E only
Options :
21052918445. 1
21052918446. 2
21052918447. 3
21052918448. 4

Question Number : 112 Question Id : 2105294665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Yyad ©UF $1 gy & o 9@ 5

A) Ul =109 @& w0 J ol foodl] Hi dH # glar g

B) UH g U & ¥4 H o ARG / W63 ©4 3 51 &

(C) U8 U ©1UH & & U § forge fazenm te ¥ 3fie ©tq & ©u & g1 & god 2|

(D) U8 &g & wu | fogd &gl 2eg & STUu™ @&f 39 U6 of o § 31ag fodr off 9@dl &
() T =00 & ©U ¥ ey 2rsg o <iffat 9ga 9 2

i feu T famedl § ¥ Faiite 3ugdd 3R gHU

1. Bad (A) 3R (B)
2. ad (C)

3. Pad (A)

4, ®dd (D) 3R (F)
Options :
21052918445, 1
21052918446. 2
21052918447. 3
21052918448, 4

Question Number : 113 Question Id : 2105294666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the sentence, 'Anamika has invited him to the party’, the verb ‘invite’ has the following
A. the verb is marked with past tense morpheme

B. the verb is marked with perfective morpheme

C. the verb is marked with participle morpheme

D. the verb is marked with agreement morpheme

E. the verb is marked with conjoining morpheme

Choose the most appropriate answer from the options given below:

1. A and B only
2. B only

3. D and E only
4. B and C only
Options :
21052918449. 1
21052918450. 2
21052918451. 3
21052918452. 4

Question Number : 113 Question Id : 2105294666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“SHIHD] 8% §915C8 [gH ¢ & UIel *: /e H fopal 515 & [aeu@ 8
A) T% fvar yoeifos ©m @ emaffa 31

B) g fehd1 UidIicid wiud 4§ dfFd o

(C) T% 5pd1 Bed ©UE ¥ 3mea 31

(D) Tg fpar rf=afd ©fA 9 omafpa B

() TE fohar SOl =g 9 3mafPd B

i feu T famedl & & Haifte Suged STk gHT

1. Had (A) 31X (B)
2. Had (B)

3. &ad (D) 3R (E
4.%ﬂ$ﬁ{ﬁ}aﬁ¥
Options :
21052918449 1
21052918450 2
21052918451, 3
21052918452. 4

Question Number : 114 Question Id : 2105294667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true for the minimalist program?

A. At any point in the derivation, spell-out may be applied creating a new dimension in
derivation leading to interface level PF

B. If the ultimate representation reached at PF satisfies the interface condition of PF, the
derivation is said to crash at PF

C. If, on the other hand, it does not meet the interface conditions of PF, the derivation is said
to converge at PF

D. New lexical items cannot be inserted after a spell out.
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
21052918453. 1
21052918454.2
21052918455. 3
21052918456. 4

Question Number : 114 Question Id : 2105294667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafRad 5 9 &1 9 $Y4 cgardiel daeH P eR H 9ol 6

(A) ScIf< o A H, oI~ H TYUT ST Giord B oAl Hugad &l Gl ¢ fodd hoaey
Sy & Ul U% Bidl &1

(8) Ife dt v # une ifem ufaear § Ot v J Sevthy HERH B Ufd sial & o oIcdd awil &
IR H P19l & fb d Ui U W HR 81U

() At A 3R 399 Ul U & g 20 &1 Ufd el aidl & df ARl & SR & Pel ol & B
Tg U1 Uh W SHHgd sl T 8l

(D) U WTfeg Hel &I SR dv UHIq 3-0-41Ud el [l ol el 6|

513 fog T et 71 @ T8 SR AR

Options :

21052918453. 1
21052918454. 2
21052918455. 3
21052918456. 4

Question Number : 115 Question Id : 2105294668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The English Great Vowel Shift is also best known of all chain shifts where,
A. The vowel change from Middle English to Modern English is explained
B. The long vowels systematically get raised

C. The short vowels systematically get lowered

D. The highest long vowels get diphthongized

E. The central vowels get fronted

Choose the most appropriate answer from the options given below:

1. A and B only

2. A and C only

3. A, B and D only
4. D and E only
Options :
21052918457. 1
21052918458.2
21052918459. 3
21052918460. 4

Question Number : 115 Question Id : 2105294668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SferRr Ue alda e g+ gaan ufighal # walite giawd ¢ o
A) AE@IA A s I YFE sl J TR uRad4 &1 guH faar 1 B
B) T WRI H Yogaieyd Hgitm<u gial g

(C) TTY TR H Youdiyd &4 ¢ [GgRiaxul 5ial ¢

(D) SH G1Y R THaRITd oid ol

(E) I TR UG o4 9ld §

i feu T famedl § ¥ Faiite 3ugdd 3R gHU

1. Bad (A) 3R (B)

2. ®ad (A) 3R (Q)

3. ad (A), (B ai‘l?(D)
(D)

4%?:1?[[3\31:1?

Options :

21052918457. 1
21052918458. 2
21052918459. 3
21052918460. 4

Question Number : 116 Question Id : 2105294669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Altaic hypothesis which is linked with the Ural-Altaic hypothesis connects or relates the
distant genetic relationship between languages

A. This hypothesis relates Turkic, Mongolian and Tungusic together

B. This also relates Korean and Japanese together

C. The Altaic traits include vowel harmony, simple phoneme inventories and agglutination
D. The Altaic languages are highly prefixal

E. Morphology of Altaic languages is very complex

Choose the most appropriate answer from the options given below:;

1. A and B only

2. A, B and C only
3. A and C only
4. D and E only
Options :
21052918461. 1
21052918462.2
21052918463. 3
21052918464. 4

Question Number : 116 Question Id : 2105294669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Heogd URGETH Sl I - Sfecsd YR U Ydftd g Hiursil o §id g3y SHdiRe ddy
Tftd &dl o

(A) TG U@ g, Hilea AR e & ard Say RMad & o
(B) U8 BING 3R SuHT & &g Hi dae =iftd sdl gl

(C) Heegd U1 H o FEld, IE= WiHE g 3R gie- i giar |
(D) STH HINTE AP Id Fefd et 2

(F) 3iecsd U &1 SufdgH SHdfY® wfed g

A fu 7w faeal & © Hallte Iuged SRl g+ :

Options :

21052918461. 1
21052918462. 2
21052918463. 3
21052918464. 4

Question Number : 117 Question Id : 2105294670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Analogical levelling in Historical linguistics reduces the number of variants a form of the word
has

A. This process worsens the uniformity of a word - paradigm

B. This weakens the semantic content of words

C. This process makes the paradigms more uniform

D. This process helps to undo the alternations that the forms must have undergone

E. The English words old — elder — eldest > old-older — oldest is an example of this process
Choose the most appropriate answer from the options given below:;

1. A, B and E only
2. C, D and E only
3. A and B only

4. B and E only
Options :
21052918465. 1
21052918466. 2
21052918467. 3
21052918468. 4

Question Number : 117 Question Id : 2105294670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



tiaeiye HIT fasH & Grexgaas el [oal Jeaey & URddl ®1 S BH B odl &
(A) TE Uftrar f5E Tsg - ©Urat! &1 Theudl B Y &% ol &

(B) U8 Weg & 31 3120 & FHOR S cdl o

(C) U8 Ufshal =yraierdl @i e They sl o

(D) Tg Ufshdl =i & gU gaclidl &l Ui adl &l

(E) STl & Teg S — TS > 3T - 3itet — 3itate 59 Uihdl & 3aeivl & |
i feu Tu famedl § 9 Haiitie 3o g ;

Options :

21052918465. 1
21052918466. 2
21052918467. 3
21052918468. 4

Question Number : 118 Question Id : 2105294671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sentences entails, "The students liked the course"?
A. The students didn't like the course

B. The students loved the course

C. The students disliked the course

D. The students despise the course

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only
Options :
21052918469. 1
21052918470. 2
21052918471. 3
21052918472. 4

Question Number : 118 Question Id : 2105294671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafaa © 4 forg a1gg &1 e & o - faenfifal 3 ureasa & udg faar,
(a) Taeniial ®f ureawmH gde A8l M|
() faenfiial o! uTedwmH agd Udg STl

() Taential & urea®H facpa 9UE ol M|
D) faenfifal o ureusH g o
- feu v fasedl ¥ ¥ 9El S 9T

Options :

21052918469. 1
21052918470. 2
21052918471. 3
21052918472. 4

Question Number : 119 Question Id : 2105294672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true for Creoloid?

A. It is a variety of language

B. Itis a process of Creole formation

C. It bears linguistic resemblance to Crecle

D. It lacks a history of origin in a pidgin language

E. It may or may not have a strong tradition of use by native speakers
Choose the correct answer from the options given below:

1. A, B, Cand D only
2. B, C, D and E only
3.A,C DandE only
4. B, C and E only
Options :
21052918473. 1
21052918474. 2
21052918475. 3
21052918476. 4

Question Number : 119 Question Id : 2105294672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



foraramgs & SR H FElEd H S a 9ei 8 2

(A) T8 HHT afaA B

(B) UE foraid Yo ol Ufsha g

(C) 39H hIT & TIY HIWITaS=! GHH Blal 6 |

(D) 394 ! AfEa 4Nl H 354 3ide™ ®f SReRI @1 AYE sl o
(E) THH AU Y1t & TanT o1 Boigd Wl a1 o 81 T@di 21

Options :

21052918473. 1
21052918474. 2
21052918475. 3
21052918476. 4

Question Number : 120 Question Id : 2105294673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true for Elite Closure?
A. People with power use language to reproduce their privileged positions
B. People without power shun the language/languages of the privileged class

C. Myers-Scotton used this concept in her work in Africa where colonial languages are spoken

by a minority of the population

D. Labov used this concept in his work in New York departmental stores
E. Elite closure act as an effective 'gatekeeping’ measure

Choose the correct answer from the options given below:

1. B, C and D only
2. B, D and E only
3. A, B and E only
4. A CandE only
Options :
21052918477. 1
21052918478. 2
21052918479. 3
21052918480. 4

Question Number : 120 Question Id : 2105294673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Teic daloR AR B FERifGa S S & 9al & 7
(A) THaITe! aRT Sfu-T fafRny ifdd uefRia & & fere Hien &1 wgi &xd 2|
(B) Tfaafdet= ar fafEmy ot &t HTaT /7 HTarsii &1 UanT 9l $d g

(C) AT - Wied A hd1 | 30+ $E H 39 AR &1 UgH {5l 9igl U Scdadd dad]
AR YT &1 Uar Sl e

(D) TEId 4 =T feurdHed wid H ofu- & H 39 HLRN &1 R fdd|
(F) Weile galiok Ul UHTdl 7ie - HIT U™ & ©4 5 @™ $dl el

Options :

21052918477. 1
21052918478. 2
21052918479. 3
21052918480. 4

Question Number : 121 Question Id : 2105294674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Despite the fact that N/A languages are characterized by distinctive retroflexion, which of the
following languages lack retroflexion?

A. Assamese

B. Romany

C. Marathi

D. Gujrati

E. Sinhalese

Choose the correct answer from the options given below:

1. A only

2. A and B only
3. C only

4. D only
Options :
21052918481. 1
21052918482.2
21052918483. 3
21052918484. 4

Question Number : 121 Question Id : 2105294674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S au o aIauG b U9 T T Hieef | iRy qei=iier siftane it ogga g, Fufafad
Hu13fl § Ge=did<o &1 3y § -

(A) SgHl

(B) AT

(C) FRIAT

(D) TERIH

() Rigali

i feu 7w fgoeul # ¥ U5l 3w gHU:

Options :

21052918481. 1
21052918482. 2
21052918483. 3
21052918484. 4

Question Number : 122 Question Id : 2105294675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order from the earliest publication to the latest :
A. L. Ortega: ‘Understanding Second language Acquisition’

B. S. D. Krashen: 'The Input Hypothesis: [ssues and Implications’

C. R. Ellis: 'Task-based Language Learning and Teaching'.

D. W. F. Mackey: ‘Language Teaching Analysis’

Choose the correct answer from the options given below:

1.D-B-C-A
2D-B-A-C
3.B-D-C-A
4B-C-D-A
Options :

21052918485. 1
21052918486. 2
21052918487. 3
21052918488. 4

Question Number : 122 Question Id : 2105294675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad i 3-d UrdiHaH 9 gHaH THRE & YR R IahHgR daieyd &y
(A) T, IS ; SIS UhUs cliae Ul ot

(B) T, B, $¥H : § 37U siRUldRiN : 3309 U SiEdaRg

(C) HRUCTY : TRS &3 ofaa a1 4ug g

(D) S U Hds : chidat SIfdh wAfafeg

i feu ¢ famedl # 9 wel I g :

1.®3dD, B, C, A
2. PAAD, B, A, C
3. $PaddAB, D, C, A
4, HddB,C D, A
Options :
21052918485. 1
21052918486. 2
21052918487. 3
21052918488, 4

Question Number : 123 Question Id : 2105294676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A translation procedure involving a change in grammar, from 5L to TL is known as
A. Modulation

B. Compensation

C. Shift or Transposition

D. Reduction

E. Expansion

Choose the correct answer from the options given below:

1. A only

2. B only

3. C only

4. D and E only
Options :
21052918489. 1
21052918490. 2
21052918491. 3
21052918492. 4

Question Number : 123 Question Id : 2105294676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U Ul 3are Uisha foraH Sid HIST § T&7 HINT H o1v] H URad- sidl &, 781 Healdl & 7
(A) ST

(B) Uldd=

(C) RIge arya faudy

(D) Bl

(E) fasR

i feu 7w fgoeul # ¥ U5l 3w gHU:

Options :

21052918489. 1
21052918490. 2
21052918491. 3
21052918492. 4

Question Number : 124 Question Id : 2105294677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Formants are .

A. Bundles of frequencies produced as a result of resonance in the oral chamber

B. Useful for characterizing vocalic articulations

C. Useful for characterizing tones of vowels

D. Placed far apart in the acoustic field in the articulation of front-high vowels e.g. [i, 1.
Choose the correct answer from the options given below:

1. A, B and D only
2. A and B only

3. B, Cand D only
4 A B CandD
Options :
21052918493. 1
21052918494. 2
21052918495. 3
21052918496. 4

Question Number : 124 Question Id : 2105294677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Wi ds/ BiEc® -

(A) 549 UHIE § 3a1g & boaeyd 3d4 Jghi io

(B) TR & HfUT&T & oW Iuant

(€) W &t aF & s & fag Iuarf

(D) 3% 3= TR Y1 [i, | ] @ R0 § @Hd &7 § 63 W 9 ol
- feu 7Y famedl & ¥ Wl 3w g

4. (A), (B), (C). (D)
Options :
21052918493. 1
21052918494. 2
21052918495. 3
21052918496. 4

Question Number : 125 Question Id : 2105294678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are NOT correct?

A. 'Langue’ is the individual's knowledge of his language

B. 'Parole’ is the use of language by an individual

C. 'Substance’ is the written or spoken shape assumed by a unit

D. 'Form’ is the phonic or graphic medium which is organized into substance to create
meaning

E. 'Langage’ is the human language faculty i.e. language in the general sense
Choose the most appropriate answer from the options given below:;

1. A, Cand D only
2. C, D and E only
3. D and E only

4. A DandE only
Options :
21052918497. 1
21052918498. 2
21052918499. 3
21052918500. 4

Question Number : 125 Question Id : 2105294678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafefed H ¥ D el 981 8 ?

A) THT YT &1 AfGa-E I o

B) ‘IRIar fodt aafad gRT ngad Wl & |

(C) Teac ' [ gl 3HIs @ faRad 3Ydl dia® Wed ol

(D) GBI WH® 31yl g Ared & od 3 9o & fon geacg | ied f[Gar s o
(E) TS HIG HTNT ¥ SfuTa g of & ymar gl

i feu T famedl § ¥ Faiite 3ugdd 3R gHU

1. &ad (A), (C) 3R (D)
Q). S?R[E}

Optlons :

21052918497. 1
21052918498. 2
21052918499. 3
21052918500. 4

Question Number : 126 Question Id : 2105294679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Circumfixation I. To form Allomorphemic variants of a merpheme which are
phonetically unrelated

B. Suppletion Il. Process in which an affix is inserted into a root item itself

C. Infixation Il. Affixation that allows putting affixes on both sides of a word
simultaneously

D. Conversion IV. Where word functions for different categories without any
affixation

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1l
ZA-N,LB-1,C-1,D-V
3JA-IV,B-1LC-1Il, D~
4 A-1,B-IV.C-1ILD-1
Options :

21052918501. 1
21052918502. 2
21052918503. 3
21052918504. 4

Question Number : 126 Question Id : 2105294679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt - 1 3R Tt - 11 D gHfeT sifo

gl - | Tl - 1l

|, Tl =ity & Ui uRad o WhAs ¥ 4 olids
gl
- %.lmmuﬂwﬁmw&mﬂnﬁ‘aﬁm:wﬁﬂﬁmw
C. 90 UHY - 111 Uega- forgd o 3eg & oiFf 3R 91 - 91y Uy
BIEES TG S|

o, afead v, faufad (o) oy wree fa=1 fardi U= & fafi
' U7t & 0 J Ugad aid 8l

i fou 7t fawent & @ 98 SR 9T

A. T4 UgT

A)-(11), (B)-(IV), (Q)-(1), (D)-(I

1. (A)- )-(1)

2. (A)-(111), (B)-(1). (C)-(1), (D)-(IV)

3. (A)-(IV), (B)-(11), (C)-(11), (D)-(I
4. (A)-(1). (B)-(IV), (Q)-(1), (D)-(1I

Options :

21052918501. 1

21052918502. 2

21052918503. 3

21052918504. 4

(
(
(
(

)
(1)

Question Number : 127 Question Id : 2105294680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1l

A, Airstream Process l. Tongue
B. Phonation Process II. Velum

C. Nasalization Process ll. Lungs
D. Articulation Process V. Larynx

Choose the correct answer from the options given below:

TA-NLB-W,C-II,D-1
ZA-N,B-ILC-IV,D-1
3A-IV,B-1ILC-NLD-1
4 A-ILB-IV,C-1IILD-1
Options :

21052918505. 1
21052918506. 2
21052918507. 3
21052918508. 4

Question Number : 127 Question Id : 2105294680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i - | gl - 1l
A. dTY - WdTg Uishdr |, SiTH

B. Teig o Ul | oY
C AR Ui . BhS
D. 3RO Ufshdl V. W3
id feu 77u fadedl & ¥ U8l SR 9T

1. (A) -(I), (B} - (IV), (C) - (1), (D) - (1)

2. (A) (1), (B) - (), (C) - (IV), (D) - ()

3. (A) -(I\V), (B) - (), (C) - (), (D) - (1)

4. (A) -(I), (B) - (1), (C) - (1), (D) - (1)

Options :

21052918505. 1
21052918506. 2
21052918507. 3
21052918508. 4

Question Number : 128 Question Id : 2105294681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

A p, bt d|l.glides

B.b.zn 1. liquids

C.yw lll. stop, consonants
D.lr IV. voiced sounds

Choose the correct answer from the options given below:

TA-NLB-W,C-II,D-1
ZA-W,B-1l,C-1,D-1
3A-ILB-IV,C-1,D-1
4 A-MLB-ILC-IV,D-1
Options :

21052918509. 1
21052918510. 2
21052918511. 3
21052918512. 4

Question Number : 128 Question Id : 2105294681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | 3R Gl - 11 ol GHferd Sife : -

i - | Ol - 1l

A. b, b. ph, bh |, e

B. b, zn INENEGE]

C. y, W RS ER-IEE
T V. ©IY &

D.
i feu 7Y famedl 5 9§ 981 IR 9T :

1. (A) (11, (B) - (IV), (C) - (1), (D) - (1)
2. (A) -(IV), (B) - (1), (C) - (1, (D) - (1)
3. (A) -(llT), (B) - (IV), (C) - (), (D) - (1)

4. (A) -(In), (B) - (1), (C) - (IV), (D) - (1)
Options :

21052918509. 1
21052918510. 2
21052918511. 3
21052918512. 4

Question Number : 129 Question Id : 2105294682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
A, Karta l. Nominative
E. Karman . Accusative

C. Adhikaranallll. Locative

D. Karana V. Instrumental

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-1,B-N,C-1I,D-V
JA-ILB-1LC-1V,D-1l
4 A-IV,B-1U,C-1ID-1
Options :

21052918513. 1
21052918514. 2
21052918515.3
21052918516. 4

Question Number : 129 Question Id : 2105294682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i - | i - 1

A Bl |, e
B. @H || Taguifed
C. e 1. Tihieq
D. &3] V. e
id feu e fadedl 9 U1 IR 9T

1. (A) =(1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) -(1), (B) - (1), {C) - (1), (D) - (IV)

3. (A) (1), (B) - (1. (C) - (1), (D) - (111}

4. (A) -(IV), (B) - (1), (C) - (), (D) - (1)

Options :

21052918513. 1
21052918514. 2
21052918515. 3
21052918516. 4

Question Number : 130 Question Id : 2105294683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

A. Assimilation . brid — bird; hros — horse; palabra — parabola

B. Dissimilation ll. arbor — arbol; chimney — chimley; frijolar — frijol

C. Metathesis Ill. scola — iskola; stabula — istabula; cronica — coronica
D. Epenthesis IV. octo — otto; noctem — notto; septem — sette

Choose the correct answer from the options given below:

TA-NLB-ILC-1,D-1V
ZA-1,B-N,C-N,D-1
JA-ILB-1LC-1V,D-1l
4 A-IV,B-1I,C-1,D-1l
Options :

21052918517. 1
21052918518. 2
21052918519. 3
21052918520. 4

Question Number : 130 Question Id : 2105294683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | 3R Gl - 11 ol GHferd Sife : -
gl - | i - 1

A, HHIDIU I, brid — bird; hros — horse; palabra — parabola
B. fauHi®20r |11, arbor — arbol: chimney — chimley; frijolar — frijol
c. fauaig Ill.scola — iskola; stabula — istabula; cronica — coronica

D.H ﬁifl!%!ﬁ V. octo — ofto; noctem — notto; septem — sette

At feu 71T fgeedl H ¥ 98l 3wk g

A) -(I), (B) - (). (€) - (1), (D) - (IV)

1. (A)

2. (A) -(1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) -(1), (B) - (1), (C) - (IV), (D) - (IlT)
4. (A) -(IV), (B) - (1), (C) - (1), (D) - ()

Options :

21052918517. 1

21052918518.2

21052918519. 3

21052918520. 4

g
g
g
g

Question Number : 131 Question Id : 2105294684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. The literal meaning |l. Semantic information

B. Explicature Il. Contexual information
C. Implicature lll. Sender's agenda
D. Proposition IV. Core sentence meaning

Choose the correct answer from the options given below:

TA-NLB-W,C-II,D-1
ZA-1,B-LC-1,D-V
3A-1L,B-ILC-1I,D-V
4 A-IV,B-1U,C-1ID-1
Options :

21052918521. 1
21052918522. 2
21052918523.3
21052918524. 4

Question Number : 131 Question Id : 2105294684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl - | 3R Gl - 11 BT GAfTd Pifog : -

i - | =l - 1l
A. Tiiead Y |, ey oI
B. goaaard . HEHAT gl
c. ffgard I, U9 @I Taial
D.ufasE v, & areg
Fgfafad fasedl & ¥ U8l o= 9T :
1. (A) (1), (B) - (IV), (C) - (10), (D) - (1)
2. (A) -(l1), (B) - (1), (C) - (1), (D) - (V)
3. (A) -(1), (B) - (1), (C) - (1), (D) - (V)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
Options :

21052918521. 1
21052918522.2
21052918523. 3
21052918524. 4

Question Number : 132 Question Id : 2105294685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A, Synonymy . husband-wife

B. Complimentaries |Il. big-small

C. Antonyms . boy-girl

D. Converse V. begin-commence

Choose the correct answer from the options given below:

TLA-IW,B-1,C-1I,D-1
ZA-1,B-ILC-1I,D-V
JA-ILB-LC-IV,D-1
4 A-NLB-I,C-IV,D-Il
Options :

21052918525. 1
21052918526. 2
21052918527. 3
21052918528. 4

Question Number : 132 Question Id : 2105294685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i - | gl - 1l
A, ForEf I, Ofd - gt
B. qX& L §3T - Blel
c. faam Il. TSI - TSD]
D. faudiard® V. O - URY
Fgfafad fasedl & ¥ U8l o= 9T :
1. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
2. (A) -(1), (B) - (1), (C) - (1), (D) - (1V)
3. (A) (1), (B) - (1), (C) - (IV), (D) - (1)
4. (A) -(l), (B) - (1, (C) - (IV), (D} - (1)
Options :

21052918525. 1
21052918526. 2
21052918527. 3
21052918528. 4

Question Number : 133 Question Id : 2105294686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Martha's Vineyard Study |l. Susan Gal

B. Oberwart Study Il. William Labov

C. Kupwar Study . J. Gumperz & Wilson
D. Norwich Study V. Peter Trudagill

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-W,B-1,C-1Il,D-1
JA-ILB-LC-1I,D-V
4 A-ILB-IV,C-1,D-1I
Options :

21052918529. 1
21052918530. 2
21052918531.3
21052918532. 4

Question Number : 133 Question Id : 2105294686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | B gl - 1 9 gAfdd sifen ;-

Tl - | Tt - 1
A, A fa4a18 WSt |, g9 A
B. HTERATe wal |, faferas TEE
C. PUAR ol RS RIS R PR [T
D. Alldd &8l Iv. diex gefitd
Fgfafad fasedl & ¥ U8l o= 9T :
1. (A) -(1), (B) - (1), (C) - (1), (D) - (V)
2. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) (1), (B) - (1), (C) - (1), (D) - (1V)
4. (A) -(I), (B) - (1), (C) - (1), (D) - (1)
Options :

21052918529. 1
21052918530. 2
21052918531. 3
21052918532. 4

Question Number : 134 Question Id : 2105294687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
A SVO |l English, French, Hausa and Thai
B. SOV [Il. Persian, Japanese, Korean, Tibetan

C. VSO |lll. Hebrew, Classical Arabic, Tagalog
D.VOS |IV. Malagasy, Tzotzil, Cakchiquel

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-1LB-LC-IV,D-1
3A-ILB-IV,C-1,D-1
4 A-IV,B-1U,C-1ID-1
Options :

21052918533. 1
21052918534. 2
21052918535.3
21052918536. 4

Question Number : 134 Question Id : 2105294687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | 3R Gl - 11 ol GHferd Sife : -

Tl - | Tt -1
A, TH Gl 3] |, SUST : Thd : BT 3N 4T
B.Waﬁfﬂ ||, BRE! : S9! pifgE : sl
cdlug a3y 1. i : TG 3Rl : SN
.41 3 Ty V. TrTE! - SiifeTd - S
id feu 77u fadedl ¥ U8l IR 9T
1. (A) -(1), (B) - (1), (C) - (1), (D) - (V)
2. (A) (1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (), (D) - (1)
Options :

21052918533. 1
21052918534. 2
21052918535. 3
21052918536. 4

Question Number : 135 Question Id : 2105294688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. B. Van Pattern|l. Suggestology and Outlines of Suggestopedy (1978)

B. G. Lozanov  |Il. Translation in Language Teaching (2010)

C. G. Cook Il. A Cognitive Approach to Language Learning (1998)

D. P. Skehan V. Processing Instruction (2004)

Choose the correct answer from the options given below:

TA-NLB-LC-1,D-1V
ZA-W,B-1,C-1Il,D-1
3A-1L,B-ILC-1I,D-V
4 A-IV,B-1LC-1I,D-1I
Options :

21052918537. 1
21052918538. 2
21052918539. 3
21052918540. 4

Question Number : 135 Question Id : 2105294688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | 3R Gl - 11 ol GHferd Sife : -

gl - | gl - 1l

A 61 84, T |1, goieldiell U038 3f3eaig-d b Guieual (1978)
B. ol dloiAId Il SieRH 34 dide i (2010)

C.o.d® 1113 HIfAfea uuiE € efidd af- (1998)

DU, ®hed  |Iv. HRET S¥%a=H (2004)

i feu T f9@edl § 9 98l o e

-(1), (B) - (1), (C) - (1), (D
(IV), (B) - (1), (C) - (1), (
-(1), (B) - (1), (C) - (1), (D
4. (A) -(IV), (B) - (1), (C) - (1), (D
Options :

21052918537. 1

21052918538.2

21052918539. 3

21052918540. 4

) - (V)
D) - (1
) - (V)
) - (1)

Question Number : 136 Question Id : 2105294689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Dysarthria |l. Difficulties in motor programming of speech

B. Dyslexia II. Difficulties in the motor articulation of speech
C. Aphasia I1l. Difficulties in reading
D. Apraxia IV. Loss of language as a symbolic system

Choose the correct answer from the options given below:

TA-ILB-ILC-1V,D-1
ZA-1LB-1L,C-1I,D-V
3A-1,B-ILC-1V,D-1l
4 A-LB-NL,C-I,D-1V
Options :

21052918541. 1
21052918542. 2
21052918543.3
21052918544. 4

Question Number : 136 Question Id : 2105294689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt - 1 3R Tt - 11 D gHfeT sifo

i - | gl - 1l

A, HHfd® a1 dded |, AT & I 1901 H BHieATs
B. 919 A& 1. 91 & TTdh SERY H Bie-Ts
C.grETEd II. Ug- § ®ieAg

D. Iardrd V. Gicbfad UUITell & ¥4 H YIEIaig
id feu 77u fadedl 9 981 IR 9T

1. (A) -(11), (B) - (1), (C) - (IV), (D) - (1)

2. (A) (1), (B) - (1. (C) - (1), (D) - (IV)

3. (A) -(1), (B) - (1), (C) - (1), (D) - (11}

4. (A) -(l), (B) - (1), (C) - (), (D) - (IV)

Options :

21052918541. 1
21052918542.2
21052918543. 3
21052918544. 4

Question Number : 137 Question Id : 2105294690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Broca's Aphasia  |l. Predominant grammatical impairment

B. Wernicke's Aphasia|ll. Disability affecting reading & writing ability

C. Agrammatism lIl. Fragmentary nature of speech/language production

D. Dyslexia V. Severe loss of linguistic comprehension

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-W,B-1,C-1Il,D-1
3A-ILB-IV,C-1,D-1
4 A-1ILB-1,C-1V,D-1I
Options :

21052918545. 1
21052918546. 2
21052918547.3
21052918548. 4

Question Number : 137 Question Id : 2105294690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | 3R Gl - 11 ol GHferd Sife : -

g - | ol - |
A. STE1 1 T/ d1 5 R
d&cd eI
II. T34 3R Ta- grgdl ®f UHIdd &< 31
B. ac &1 1% b g Prie
C. AATHRAVD 1. arep 7 T a0 @ fague- Ui
D.gr=H ddh g V. YIRS SErTdl 1 9 Sl
Hid fgu e fasedf & € 9e! IR g
1. (A) (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) -(l), (B) - (IV), (C) - (1), (D) - (11)
4. (A) -(11), (B) - (1), (C) - (IV), (D) - (1)
Options :

21052918545. 1
21052918546. 2
21052918547. 3
21052918548. 4

Question Number : 138 Question Id : 2105294691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Idiolect . Use to which language is being put
B. Register ll. Semi secretive language

C. Antilanguage lIl. Setting of the interaction

D. Field of the discourse|IV. Stylistic Idiosyncrasies

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-1LB-LC-IV,D-1
33A-V,B-1.C-1l,D-1l
4 A-LB-NL,C-I,D-1V
Options :

21052918549. 1
21052918550. 2
21052918551.3
21052918552 4

Question Number : 138 Question Id : 2105294691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | B gl - 1 9 gAfdd sifen ;-

i - | gl - 1l

A TET-d ||, 98 WO fored faT U Ugad eI gl
B. i 1. 31, G- HIHT

C. 3TYTH] 11, Yarg gRaw

D. Uifd &4 V. SR [mar
Fafofad faee 4 ¥ @8 S I

Options :

21052918549. 1
21052918550. 2
21052918551. 3
21052918552. 4

Question Number : 139 Question Id : 2105294692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

A, Total feedback I. Speaker of a language can reproduce any linguistic message
he can understand

B. Interchangibility ll. Speaker of a language hears everything of linguistic
relevance he himself says

C. Rapid Fading ll. Signal does not linger for a reception at the hearer's
convenience

D. Broadcast Transmission IV. A linguistic signal can be heard by any auditory system
within earshot and the source can normally be localized by

binaural direction-finding

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-1LB-1L,C-1I,D-V
3A-ILB-IV,C-1,D-1
4 A-IV,B-1U,C-1ID-1
Options :

21052918553. 1
21052918554.2
21052918555.3
21052918556. 4

Question Number : 139 Question Id : 2105294692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl - | & gl - 1 9 gHfed s : -

gl - | gl - 1l
AFEHA ||, WG 4T S Wi HIEdEH S 968 & 9 96l 6, 39
UagP [Sid o godl Bl

B.HM I IS HTHT HTH! S04 & G I=ltd HINIaRI-d Siddl &)

uRad-1adl (Wdd I Ga1 8
caRda | Foue &1 PRy g 3e3d Yidl & GiauTIgRr el gial
Fama (gl
I Iv. gl YTeTaT=e faud o Youal UMl & HidR fadl of
i 44U 7 § AT & Gahall § AR fEa iy fGanas
HWEU gR1 |id &1 Udl Al o gl o
Fafeiad Gl § ¥ 98 S gHu
1. (A) -(1), (B) - (1), (C) - (1), (D) - (V)
2. (A) (1), (B} - (1. (C) - (1), (D) - (IV)
3. (A) -(l), (B) - (IV), (C) - (), (D) - (1)
4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
Options :

21052918553. 1
21052918554. 2
21052918555. 3
21052918556. 4

Question Number : 140 Question Id : 2105294693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Discreteness I. A large number of meaningful utterances can be recombined in
a systematic way from a small number of discrete parts of the
language

B. Displacement Il. Language users can understand and create never-heard-before
utterances

C. Productivity Il. Language users can talk about things that are not present

D. Duality of Patternin
Y 2 IV. Messages are made of smaller, repeatable parts rather than

indivisible units

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-1LB-1L,C-1I,D-V
3A-NILB-IV,C-1, D-1I
4 A-IV,B-1U,C-1ID-1
Options :

21052918557. 1
21052918558.2
21052918559. 3
21052918560. 4

Question Number : 140 Question Id : 2105294693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt - | B gl - 11 ¥ gHfid diferg : -

qdl-1 (G-

A. |, YTHT o faTesd YR B oY &A1 § a9 9§ Jdquf
[afsadl (SRl & YarE ©4 4 Ygiierd &1 < 96l g

B. 11, HTST JARTdd] gd 2i%d SR &1 o] B Tdbd g AR
[GRUq (34 95 Iod o

111, HTST HGFTddl SR ool & aR § a1d & T&d o

= V. G G IR G e w A Rl eR T e
- U 3PH1edl I

At feu 71T fgeedl H ¥ 98l 3wk giHT:

Options :

21052918557. 1

21052918558. 2

21052918559. 3

21052918560. 4

Sub-Section Number : 2
Sub-Section Id : 210529133
Question Shuffling Allowed : Yes

Question Id : 2105294694 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage and answer the questions that follow

Women were less constrained than men in letting the current social network determine the
choice of Hungarian or German. Rather, they were in advance of men in their choice of
German. Gal argues that rejection of the use of local Hungarian was part of the rejection by
younger wemen of peasant status and peasant life generally. However, the possibility of a
young man taking over the family farm could bring some advantages over wage labour, such
as independence. On the other hand, women do not want to be peasants; they do not present
themselves as peasants in speech. Gender and matrimonial relations seem to play a significant
part in a number of other language-shift situation. One such case involves the Yaaku of Kenya.
Why did the Yaaku give up their language (consciously, if the sources are to be believed) in
favour of the Maa language? After the more dominant group of Maasai moved into the
traditional area of the Yaaku, there was a gradual decline in endogamy among the Yaaku.
Whereas traditionally Yaaku girls receive beehives as wedding gifts (i.e. bridewealth) when they
began marrying Maasai men they received livestock instead. Soon Yaaku parents began
demanding this from Yaaku men as well, necessitating a traumatic change in lifestyle for
younger Yaaku men. They had to acquire cattle by serving as herders for the Maasai. This
brought them closer to the Maasai in lifestyle since pastoralism (keeping cattle) involved a
more sedentary lifestyle than hunting and gathering. Marriage between Yaaku men
Maasai women then became a possibility. The children of such marriages became monolingual
in the dominant language.

Reference: Mesthrie, R at. el (2000) Introducing Soctolinguistics. EUP, Pp.260-261

Sub questions

Question Number : 141 Question Id : 2105294695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the passage, the children of Yaaku men and Maasai women became

1. Monolingual in Maa

2. Monolingual in Yaaku

3. Bilingual in Maa and Yaaku

4. Bilingual in Maa and Hungarian
Options :

21052918561. 1

21052918562.2

21052918563. 3

21052918564. 4

Question Number : 142 Question Id : 2105294696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the passage above, what appears to have been the traditional way of living for the
Yaaku?

1. Agrarian

2. Pastorial

3. Hunting - Gathering
4. Raiding

Options :

21052918565. 1
21052918566. 2
21052918567. 3
21052918568. 4

Question Number : 143 Question Id : 2105294697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the passage above, which of the following is the preferred bridewealth of the
Yaaku parents?

1. Peasantry products
2. Beghives

3. Livestock

4. Gold

Options :
21052918569. 1
21052918570. 2
21052918571. 3
21052918572. 4

Question Number : 144 Question Id : 2105294698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage above, women do not opt for Hungarian because

1. It is not the national language.

2. It is associated with colonization.

3. It is associated with being a peasant.

4. It is used by men because of high prestige.
Options :

21052918573. 1

21052918574. 2

21052918575. 3

21052918576. 4

Question Number : 145 Question Id : 2105294699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is correct from the perspective of the passage?

1. Women and men are equally constrained in |letting the current social nature determine the
choice of Hungarian and German.

2. Men are more constrained than women in letting current social network determine the
choice of Hungarian and German.

3. Women are more constrained than men in letting current social netwaork determine the
choice of Hungarian and German.

4. There are no constrains in letting current social network determine the choice of Hungarian
and German.

Options :

21052918577. 1

21052918578.2

21052918579. 3

21052918580. 4

Question Id : 2105294694 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2105294695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918561. 1
21052918562. 2
21052918563. 3
21052918564. 4

Question Number : 142 Question Id : 2105294696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918565 1

21052918566. 2

21052918567. 3

21052918568. 4

Question Number : 143 Question Id : 2105294697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052918569. 1
21052918570. 2
21052918571.3
21052918572. 4

Question Number : 144 Question Id : 2105294698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918573. 1

21052918574. 2

21052918575. 3

21052918576. 4

Question Number : 145 Question Id : 2105294699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918577. 1

21052918578 2

21052918579. 3
21052918580. 4

Sub-Section Number : 3
Sub-Section Id : 210529134
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Question Shuffling Allowed :

Question Id : 2105294700 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension



Read the given passage and answer the questions that follow

Strategic competence is no longer seen as compensatory, activated only when other
competences are lacking. Instead, it is central to all communication. It achieves this by carrying
out a mediating role between meaning intentions (the message which is to be conveyed),
underlying competences, background knowledge, and context of the situation. It carries out
this role by determining communicative goals, by assessing communicative resources, by
planning communication and by executing this communication. Bachman characterizes these
capacities as metacognitive skills. They are 'cognitive' because of the nature of operaticns they
involve, and 'meta’ since there can be self-awareness built into their operation. This analysis
goes a long way to justifying the status of competence for these abilities. It implies that they
are indeed underlying and generalized.

Reference: Skehan, Peter (1988). A Cognitive Approach to Language Learning. OUP:161.

Sub questions

Question Number : 146 Question Id : 2105294701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Strategic competence is central to all communication

1. It is compensatory.

2. It is activated when other types of competences fail.

3. It plays a mediating role between the meaning intentions on the one hand, and underlying
competences, background knowledge on the other.

4. It is part of the underlying competence.

Options :

21052918581. 1

21052918582. 2

21052918583.3



21052918584. 4

Question Number : 147 Question Id : 2105294702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Bachman, planning communication and executing the same is part of

1. Competence.

2. Performance.

3. Communicative capacity.
4. Meta cognitive skills.
Options :

21052918585. 1
21052918586. 2
21052918587. 3
21052918588. 4

Question Number : 148 Question Id : 2105294703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The idea of strategic competence is based on

1. The Chomskyan notion of competence.

2. The Hymes' notion of ‘communicative competence”.

3. The notion of cognitive capacity and metacognitive skills.
4. None of the above,

Options :

21052918589. 1

21052918590. 2

21052918591. 3

21052918592. 4

Question Number : 149 Question Id : 2105294704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Bachman, metacognitive skills includes cognitive capacity to

1. Determine communicative goals.
2. Assess communicative resources,
3. Plan and execute communication.
4, All of the above.

Options :

21052918593. 1

21052918594. 2

21052918595. 3

21052918596. 4

Question Number : 150 Question Id : 2105294705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: As can be seen in the paragraph above, Bachman's notion of strategic
competence deals with a wide-ranging underlying and dependable competences.

Statement lI: Bachman's model does not view inter-relationship between the different
component competences; nor does it appear to be appropriately grounded in contemporary
linguistic theory.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct



Options :

21052918597. 1
21052918598. 2
21052918599. 3
21052918600. 4

Question Id : 2105294700 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Question Number : 146 Question Id : 2105294701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



BTt G I8 G0N0 &l $hald dd &

1. 98 UfdQR® &

2. SYHT YIT dd {1 otdl & 9d o 9 USBR &t gemard fawd sl 9rdi 3

3. T8 Ud 3R oY Sl SR gadl 3R HaluR SaHarsl, JEHE IH & foa a1y of Y&
B

4. g HaTUR F&HdT BT HFT |

Options :

21052918581. 1

21052918582. 2

21052918583. 3

21052918584. 4

Question Number : 147 Question Id : 2105294702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. GUYUTES &l

4. Y GIHTES DI
Options :
21052918585. 1
21052918586. 2
21052918587. 3
21052918588. 4

Question Number : 148 Question Id : 2105294703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918589. 1

21052918590. 2

21052918591. 3

21052918592. 4

Question Number : 149 Question Id : 2105294704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052918593 1

21052918594 2

21052918595. 3

21052918596. 4

Question Number : 150 Question Id : 2105294705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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